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Spbtwluls wfunnypUi, wuwapulul

wupwiplibp U tympbp, gnpbp
30197622 pnine, A4 Snpdwnh Q<L g 600,0 1000,0 600,0
30197646 pnure’ A3 dnpdwinh QL g 700,0 1,5 8,05
30197650  |pnune’ obubipw)hl q< g 700,0 2,0 1.4
30197647  |pnine' obubipwih, 60 qc Lq 900,0 43,0 38,7
30197648 pnine’ obubipwiht, 120g Q< Lg 1050,0 100,0 105,0
22991190 Yuyjbwujwn enune < g 1200,0 150,0 180,0
30197621 $pihwswpunh penine < Ug 2 300,0 2,0 4,6
30192740 pnine gniuwynp, A4 dlwswihh q< Ug 1400,0 1,5 2,1
30199400 unuudwwwnywd Ywd Yusniu pnne Q< hwin 50,0 80,0 4,0
sg263200 | neubtwbuabu ahne, duinyui, 70-200k ac huin 650,0 70,0 45,5

wnnwh, uwhinwy Eebipny
30192130 dwunhwnubip Q< hwn 50,0 300,0 15,0
30192100 ntinhl hwuwpuwy 9< hwn 100,0 175,0 17,5
30192133 uphsubip q< hwn 100,0 90,0 9,0
3019211 gnhs qunhluwnp < hwun 100,0 570,0 57,0
30192121 anhs gunhywdnp Q< hwn 100,0 195,0 19,5
30192121 gphs qunhlwinp Q< hwn 100,0 375,0 37.5
30192128 gnhs gbiwh &< hwun 200,0 290,0 58,0
30192128 qnhs ghwht QL hwtn 200,0 70,0 14,0
30192128 aphs gbuht q< husn 200,0 13,0 2,6
39263410 wdpwy, thnpp q<g wnnith 150,0 100,0 15,0
39263420 wdpwy, dbd QL winuth 250,0 2,0 0,5
30192125 dwpltipubp q< hwtn 120,0 120,0 14,4
30192125  |dwplbpubip QL huwin 200,0 113,0 22,6
30192160 onphfutbip q< hwtn 200,0 120,0 24,0
30199420 pnunpe upnudubiph hwdwp, unutiywdpny Q< hwin 150,0 220,0 33,0
30199430 pnune upnudutiph, tnpgwjutipny q< hwn 700,0 90,0 63,0
30192710 unutdwiwnhin, gpuubtjwlwihu q< hwwn 250,0 4,0 1,0
30192710 unuudwiwnhun, gpwubljwlwih < hwin 300,0 150,0 45,0
24911200 unupud, fdnyuhw QL g 1300,0 57,0 74,1




30197231 prRwywwl, wnihibpwiht punwue, S &< hwwn 10,0 4 400,0 44,0
39241210 dypwin, gpwubbjwlwihu Qg huwin 300,0 30,0 9,0
39241210 dypwin, gpwubbjwlwhu q< hwun 450,0 2,0 0.9
30197112 Yuphsh dbunuwnuwpt Yuwbp, dheht a< wnntth 120,0 160,0 19,2
30197100 Yuiphsh dEnwnuwiwnb Yuwbp, d6d Q<L unuth 350,0 10,0 35
30197321 Ywphs, dptsk 20 pbipph hwdwp Q< hwuwn 550,0 10,0 55
30197340 wiwyuwlywphs Q< hwwn 150,0 15,0 23
30197233 pnRrwwwuwl, phind, prRjw q< hwuwn 100,0 285,0 28,5
30197234 pnewwwtwl, Yngin Yugdny Q< hwn 700,0 70,0 49,0
22851200  |pnpuwwwlwlubp qc huwin 150,0 2,0 0,3
22851200  |pnpuwuywtiwliubp Q< hwin 800,0 20,0 16,0
30197232 PNRWwwuwY, wnwqulwn, pnRjw qg hwn 80,0 4 410,0 352,8
22851100 wpwgwlwnpubp q< huwin 70,0 50,0 3.9
3924114 nuitiwy’ gpuubtjwlwihu 9L hun 120,0 30,0 3,6
39241141 nuwiuwy' gpwubjwlwipu q< hwwn 150,0 15,0 28
30192230 ulyng’ bplynnuiwuh unutdywd Q< hwn 150,0 30,0 4,5
30192230 ulyng’ Bpyynndwitih unutdywd q< hwn 300,0 20,0 6,0
30192231 ulyng QL hwtn 50,0 30,0 1,9
30192231 uljng < hwun 150,0 25,0 3,8
30192231 ulng Q<L hwn 450,0 65,0 29,3
30192232 ulins pnRiw q< hwin 400,0 16,0 6,4
39263510  |ubnuwl, thnpp qc huwin 15,0 300,0 45
39263530 ubindwy, Jbd QL hun 20,0 150,0 3,0
30192780 bowpwdwupg 9L hwin 200,0 18,0 3,6
39292510 pwint, wjuwutnhl q< hwtn 120,0 10,0 1.2
30141200 hw2ywuwpp, gpwubtjwlwhu Q< hwn 3 000,0 21,0 63,0
39263100 gpwubtywlwiht puljuad Q<L hwwn 1600,0 12,0 19.2
30192131 Ubfuwtpywywt Yuad updnn dunhwnubp QL hwin 1500,0 3,0 4.5
30192131 dbfuwuhywlwt Yud upynn dwwnhuntbip q< hwwn 200,0 15,0 3,0
30192131 Ubfuwthlulwl Yud upynn dwinpunttp 9 hwin 200,0 18,0 3,6
30192135 gnpwhinti dhontly, dwinhinh hwdwp qc wnith 70,0 20,0 1,4
22811150 unpwwnbinpbp L hwin 1000,0 9,0 9,0
22811150 unpwunbinpbp 9L hwn 2000,0 5,0 10,0
22811150 unfpwnkiinpbn < huwtn 250,0 60,0 15,0
30199792 opwgnygbp L hunn 2 000,0 5,0 10,0
22811150 unpwunbitnptin QL huin 2400,0 8.0 19,2
30199792 opwgnyghin 9L hwtn 800,0 1,0 8,8
39263320 opwgnyg, wwinh Qg hwtn 1 000,0 14,0 14,0
30195920 Jwqupuwlwy gnunwfuinwlubp QL hwun 20 000,0 2,0 40,0
39292120 gpwnwfunwlutiph dwpphsubin q< hwwn 700,0 24,0 16,8
30195700 gpunwhinwlubnh dwppdwl hwywpwdnitibp Yud - _— 750.0 1.0 0.8
wwpuwguwubp
39831274 Hypwuh dwppdwt unipkn q< huwtn 1000,0 1,0 1,0
30192127 gpswinnihbip 9< hwwn 600,0 9,0 5.4
30199238 uwdwlh dpwp, A6 duwswthh < hwuwn 12,0 100,0 1.2
30199230 vwdwlh dpwp, AS dlwswthh 9L hwtn 25,0 100,0 25
30192154 Luhph |pwgnighs pwpdhlutip 4 hwn 2300,0 2,0 4,6
37821190 gdwgpuiwuindbu (Yuiyw) 74 dbinp 120,0 80,0 9,6
35821400  |npingubip a< hutn 7 000,0 10,0 70,0
30192320 tnuhstbiph dwywybubp qc hwtn 5200,0 4,0 20,8




30197511 unywpwRnine q< lg 1100,0 300,0 330,0
22611400 ubpybp nwwgpulwt dhpbuwttiph hwdwp Q<L g 8 000,0 2,0 16,0
22611400 ubipytip nywgpwlwi depEuwutph hwdwp < ug 8 000,0 2,0 16,0
30192760 pnudyhupy L pu 2000,0 150,0 300,0
42991160 nwugpwljw uwnpptph dwubp b ywpwqwbn g hwwn 50 000,0 1,0 50,0
22451210 nhwyndubp uu hwwn 2700,0 1500,0 4050,0
22111120 gpwnwpwh gppbp Q< hwwn 22 000,0 2,0 44,0
22111120 gpwnwpwuh gpptip L hwn 15 000,0 2,0 30,0
30197622 pnine, A4 $npdwinh QL lg 600,0 120,0 72,0
30199430 pninge ugnuiutiph, npgwlubpny Q< hwun 700,0 4,0 2,8
30199420 pnunpe upnuiubiph hwdwp, unutudjwsépny q< hwun 150,0 6,0 0.9
30192100 nbiinht hwuwpwl Q< hwtn 100,0 7,0 0,7
30192133 uphsubip QL hwtn 100,0 6,0 0,6
30192121 anhs qunhywynp Qc hwn 100.,0 46.0 4.6
30192121 anhs gunhywynp < huwtn 100,0 3,0 0,3
30192121 gnhs qunhywynp < hwn 100,0 6,0 0,6
30192128 anhs qbjwihu S hwwn 200,0 25,0 5.0
30192128 qnhs gluyht Q< hwwn 200,0 12,0 2.4
39241141 nuwtiwl’ qpwubtyjwlwihu QL hwun 120,0 3.0 0.4
39241210 dypwn, gpwubbywlwhu 9 hwuwn 300,0 2,0 0.6
30197322 Ywphy, 20-50 pbpeh hwdwp < hwun 1500,0 2,0 3,0
30197323 Ywinhs, 50-hg wybih pbpeh hwdwp q< huwwn 6 500,0 1,0 6.5
30197112 Ywphsh Ubnwnwwnt uwbp, dhoht 9L winuh 120,0 24,0 29
30197100 Yuiphsh diinwnujwpb Yuwbp, Jd6& Qg wnuth 350,0 4,0 1.4
30192160 aunphfutibp qsg hwtn 200,0 3,0 0.6
30192710 unutidwdwwnhwn, gpuublyjwywihu < hwtn 300,0 2,0 0,6
30192131 dbhuwbhbwlwy Ywd updnn dwinhintbin QL hwtn 200,0 5,0 1,0
30192135 gpw$hintr dhgnily, dwinhinh hwdwp < wnith 70,0 5,0 0.4
30192125  [dwpybipubp QL huwtn 120,0 8,0 1,0
22811150 Unwwnbinpbin < huwn 250,0 5.0 1.3
39263510 ubindwy, thnpn Qg husn 15,0 48,0 0.7
39263520 ubndwy, dheht QL husn 15,0 48,0 0.7
39263530 ubnuwl, dbd q< hwn 20,0 48,0 1,0
30192127 gpswinnuhbp Qg huwin 600,0 2,0 1.2
sotaazon  |Mwwvwnerplh huidun tujuurnbudiud, ubnuiuh ac hwn 2500,0 2,0 5,0
ypui npynn nuinwyuwwntin
22851200 prrwwwuwlubp 8< hwun 800,0 2,0 1,6
30141200 hwoywuwpp, gpuubtjwlwihu Q< hwn 3 000,0 4,0 12,0
22851200 pPnRWWwuwyubp Qg hwn 800,0 20,0 16,0
30199420 enue ugnuiubiph hwdwp, unutdywdpny < hwwn 1300,0 20,0 26,0
30192114 pwlwp, Yuhph pwpahyh hwdwp Q< hwin 350,0 5,0 1,8
39265100 Ytnhlutip b onwlubp G hwn 780,0 10,0 7.8
30192121 anhs qunhludnp Q< huwitn 120,0 50,0 6.0
30192130 dwunhwnubp 9L hwin 800,0 10,0 8,0
30192133 uphsubip Qg hwwn 180,0 20,0 3,6
30192100 ntiinht hwuwpul 9< hwtn 240,0 20,0 4,8
39292520 pwlint’ bnwulyniuh Q< hwwn 290,0 10,0 2,9
30192125 dwpybpubip Q<L hwtn 320,0 10,0 32
30192125 dwplbputp q< hwin 400,0 10,0 4,0
30197322 Ywphs, 20-50 plipph hwdwp q< hwun 2720,0 5,0 13,6




30197340 wiwwljwphs gL huwtn 150,0 5,0 0,8
39263410 wdpwl, thnpp Q< wintth 150,0 10,0 1,5
39263510 ubndwy, thnpp L hwn 15,0 360,0 5,4
39263520 ubindwl, dhehu q< hwn 15,0 360,0 5,4
39263530 ubndwly, utd Q< hwn 20,0 360,0 7,2
39241210 typwn, gpuubitywljwhu G< huwin 500,0 10,0 5,0
39241141 nuuwl’ gpwubujwywiht < hwwn 400,0 10,0 40
30197333 nuilhs thnpn 94 hwwn 1800,0 3,0 3,4
30197120 Ynéowdutip 9< wnth 180,0 10,0 1,8
39292120 gpwunwiunwlubiph dwpnphsutin Q< hwn 350,0 3,0 1,1
39292110 gnwnwifuinwlubin 9L huwitn 20 000,0 2,0 40,0
wutnwenebph hwdwp bwhwnbudws, ubnuu
30193200 ﬁ’nw - qﬁﬁi£?muw2£nhn puaxnbus, ubguip 9c hun 2 500,0 6.0 15,0
30192160 auphluubp 9 hwn 350,0 10,0 3,5
30197234 PnRwwwlwy, Ynawn Yugdnyg Q<L hwwn 700,0 10,0 7,0
30197234 pnRwWwwuwl, Ynpwn Yuguny Q< hwn 700,0 15,0 10,5
30192231 ulyng QL hwwn 100,0 30,0 3,0
30192710 unubdwdwwnhwn, gpwubjwluwht Q< hwn 180,0 10,0 1,8
30197650 enine’ obubipwhu < g 650,0 5.0 3,3
39263410 wdpwly, thnpp qg winith 150,0 15,0 23
30192130 Uwwnhwnubip g hwin 50,0 17,0 0,9
30192231 ulyng < hwwn 150,0 2,0 0.3
22811150 unpwwnbipbn Q< hwn 250,0 20,0 5,0
7 664,6
Cwduiljupqsuyhts wbfubhlw, wuhbunwduubn
30211190  |wbdtwlwl hwdwlwpghsubp q< huwin 286 000,0 1,0 286,0
30211200 nnipwhp hwdwlwpghgutip < huwin 364 400,0 1,0 364,4
30211200 nynipwijhp hwdwlwnpghsutip Q< hwtn 400 000,0 1,0 400,0
30239100 wuwinShuwhwudwt dbpbuw QL hwuwn 190 000,0 2,0 380,0
30239100 wwwnbkiuwhwudwl dbpbuw q< hwwn 110 000,0 1,0 10,0
30239100 wwwntbuwhwudwu dupbuw < hwwn 90 000,0 1,0 90,0
30239100 wwwnthuwhwudwu dupbiuw q< hwn 90 000,0 1,0 90,0
30237490 hwdwlwpgswihu dnupwnp < hwwn 65 000,0 3 195,0
30239100 wwinGkuwhwudwy dbpbtw ac hwn 190 000,0 2,0 380,0
30211190 whiGbwlwl hwdwlunghsubp q< huwin 240 000,0 11,0 2640,0
30239100 wwinbbuwhwudwu dbpbuw Qg hwwn 90 000.0 3,0 270,0
31641100 hunuwpbpdw EGupwlwt vwppwynpnuiubp Q< hwtn 8 000,0 1,0 8.0
31641100 hwjinbwpbipdwt bjnpuwlwt vwppwynpnuiubn a< hwn 4 000,0 1,0 4.0
30211250 wotuwwnwupwht Yuywt QL hwwn 13 000,0 1,0 13,0
30234640 $itip hhannnipniu, 16GB QL hwin 5 000,0 6,0 30,0
30236100 hwiwlwpgsh hhannnujniup dkdwglnn uwppbip q< hwun 42 000,0 2,0 84,0
30236100 hunfwlwpgsh hhannnipniup Jbdwgunn uwnpbip QL hwn 30000,0 5,0 150,0
30236100 hwiwlwpgsh hhgnnnug)niup dhdwgunn uwnpbip q< hwuwn 15 000,0 30,0 450,0
s0036180  |Pulbnwnhu hirgnnuejut puipintn (ypuiahbil 9 hutn 18 000,0 15,0 270,0
inbinwrpnud)
31221230 dhwgdwl Junifutilip 9L hwin 25 000,0 10,0 250,0




31221230 dhwguiwl dwpniuutip < hwwn 40 000,0 1,0 40,0
44163250 Uhwlyghs /ynubijinnp/ widpwglinn uwipp 9L hwn 20,0 1500,0 30,0
44163250 Uhwlghs /Yynubiuwnp/ wipwgunn uwnpg 9L hwwn 10,0 100,0 1,0
31651400 dtiyniuhs dwiwwybttbp Lve hwtn 150,0 30,0 45
44511240 wpgwibtn < hwwn 2000,0 2,0 4,0
44163250 dhwlghs /Ynublynnp/ wipwgtinn uwpp Q< hwun 12 000,0 1,0 12,0
31681700 pwdwbwpwn wnnuh Q< hwn 10 000,0 10,0 100,0
31681700 pudwtiwnwn wnwh qL huin 5000,0 50 25,0
31221230 dhwgdwt duwnifulitip < huwn 1 000,0 20,0 20,0
31221230 dhwguwu dwnifuubp ag hun 1500,0 10,0 15,0
30237460 hwidwlwpgswiht unbntwowpbip Q< huin 2500,0 30,0 75,0
30237411 dyuhy, hwdwlwnpgswht, jwpny QL huwtn 2000,0 30,0 60,0
3023713 ynublnnp (Ygnprutin) q< huin 5000 4,0 20,0
30121460 tnnubipwht pwpwphotbip Q< hwwn 2500,0 10,0 25,0
30121460 innubuiht pwpuphgubp qg hwwn 2500,0 5,0 12,5
30121460 inntpwjht puipuphglbin q< hwuwn 2500,0 20,0 50,0
30121460 wnubipwjh pupunphgutip q< hwn 6 200,0 3,0 18,6
30121460 innubpwiht pwpunphgutin Q< hwn 5 400,0 3.0 16,2
30121460 inubipwhts pupunphgubin < hwn 2500,0 20,0 50,0
30121460 inntipuight pwipuphgubip Q<L hwwn 3000,0 5,0 15,0
30237200 hundwlwnpghsubph wwpwquwbn QL hwwn 6 000,0 2,0 12,0
30237200 hwiwlwnpghsubph wwpwguwubp Q< hwn 900,0 20,0 18,0
30237200 hwdwlwpghsubiph wwpwgwbp a< huwwn 840,0 40,0 33,6
30237200 hwiwlwnahstbinh wwnwowubn < huwwn 840,0 40,0 33,6
30237200 hwiwlwpghsubiph wwpwqubp G hwtn 1500,0 10,0 15,0
30237200 hwiwlwnghsutinh wwpwquutnp Qg hwn 990,0 10,0 95
30237200 hwdwywpghsubiph wWwpwqwubp q< hwn 1200,0 5,0 6,0
30237200 hwiwlwpghsubinh wwpwgqwubp qc huwwn 1 800,0 2,0 36
30237200 hwiwlwpghsubinh wwpwouwubip q< hwwn 2600,0 10,0 26,0
30237200 hwdwlwpghsubph wwpwgwbnp <L hwin 1600,0 15,0 24,0
30237200 hwiwlwpghsubiph wwpwquubn q<c huin 5500,0 4,0 22,0
30237200 hwiwlwpghsutiph Wwpwquubp q< hwn 1500,0 5,0 79
30192320 tnwghsubiph dwuwuwjeuubn q<L hwn 2000,0 10,0 20,0
30192320 inuyhsubiph dwuwwybubn q< hwin 1200,0 13,0 15,6
30192320 wwhsubiph dwwwytuubin < hwun 4.400,0 3,0 132

unbip qwabpughu
30121470 wnyhsubiph/hbinwwjwinGuwhwunn Ubiptuwubiph QL g 5500,0 40,0 220,0

hwduwp

innubip (ugbipuwiht
30121470 wnyhsubph/hinwwwnéEuwhwunn dbpbuwubiph < Ua 5500,0 10,0 55,0

hwdwp

innubip (wabpughu
30121470 wnuhsubiph/hnwwwntiuwhwunn Ubpbuwubph qg la 7 000,0 5,0 35,0

hwdwp

wnnubip pugtpuh
30121470 tnuyhsubp/hnwuwinabuwhwunn dbpbiuwubiph Qg Yg 5500,0 3,0 16,5

hwdwp

wnnubip (wabipwihu
30121470 inughsubiph/htmwwwin6buwhwunn dbpbwubh QL Ya 5600,0 5,0 28,0

hwdwp

wnntbp (wabpught
30121470 unyhsubip/hbnwywinGbuwhwunn dbiptiuwubph < 1] 7 800,0 3,0 23,4

hudwp




30237200 hwiwlwpghsutinh wuwpwaquubp QL hwwn 5000,0 10,0 50,0
30237200 hwiwlwpghsubinh wwpwquubip Qg hwn 3200,0 10,0 32,0
30237200 hwdwywpghsubiph wwpwgwubp Q< hwn 3000,0 5,0 15,0
30237200 hudwlwpghsubiph wwpwgwubp QL hwuwn 3400,0 20 6,8
30237200 hwiwlwpghsubinh wwpwgubp 94 hwwn 1500,0 4,0 6,0
30237200 hwiwlwpghsubph wwpwqubp < huwn 1500,0 2,0 3,0
30237200 hwidwlwpghsubiph wwpwaqwubp L hwn 2000,0 2,0 4,0
30237200 hwiwywnghsutinh wwpwgwubn < hwtn 1300,0 1,0 1.3
30237200 hudwywnpghsubiph wwpwqwubp g hwtn 500,0 1,0 0,5
30237200 hwdwywnghsubiph wwpwowubp Q< hwtn 100,0 5,0 0,5
30237200 hwdwlwnghsubiph wwpwqwubp Q< hwtn 100,0 5,0 0,5
30237200 hwdwlwnpghsutiph wwpwqwbnp 9L hwtn 100,0 5,0 0,5
30237200 hwidwlwpghsubiph wwpwaqwubp 4 hwn 100,0 5,0 0,5
30237200 hwiwlwpghsubiph wwpwquubn oL huwn 300,0 100,0 30,0
30237111 uunigiwl dwpinlng Qg hwn 25 000,0 10,0 250,0
30237130 hwdwywpgswhu pwpunbip 5 hwun 2500,0 5,0 12,5
30237137 wnGuwpwnunbip < hwn 30 000,0 5,0 150,0
30237200 hwiwlwpghsubiph wwpwgwubp q< hwun 2 000,0 10,0 20,0
32421200 guiguyht pwnunphsubip q< hwtn 485 000,0 1,0 485,0
somggrg |t bhrpcu gty iyl 9¢ hutn 28 000,0 1,0 28,0
inbnwnpnu)
30237137 wnbuwpwpubip QL hwn 275 000,0 1,0 275,0
31721100 byunpwibfuwuhlwlwl uwppbip 9 hwn 1350 000,0 1,0 1350,0
30237200 hwdwlwpghsubiph wwpwowtbp < hwn 5300,0 2,0 10,6
30121480 [nuwwwinsbuwhwunn uwppbph wnnubip Q< g 7 950,0 5,0 39,8
30121500 puwiptnphoubp q< hwwn 40 000,0 1,0 40,0
30121480 \nwwwnGbuwhwunn uwpptph wntbp Q< Yg 7 950,0 3,0 23,9
30237200 hwdwlwpghsutiph wwpwquwukp ¥4 hwn 3450,0 2,0 6,9
30237200 hwiwlwpghsubiph wwpwgquubn 9L hwtn 1600,0 2,0 3.2
30237200 hwiwlwnpghsubiph wWwpwquwutp q< hwn 5300,0 2,0 10,6
30237490 hwdwlwnaswiht dnthwnnp QL hwtn 220 000,0 1,0 220,0
30237132 wnunwpht uwppbiph dhwgdwl jwpbn (usb) q< hwtn 8 000,0 3,0 24,0
32551160 hbnwfunuwjht uwppbip Q< hwn 13 000,0 1,0 13,0
30211280 hwidwlwpghg wdpnngp dblynd 9< hwtn 380 000,0 1,0 380,0
sostfign || PerprBImAL LEmORSTY oy Yl a< hwn 415 000,0 1,0 415,0
wpngtiunpubip
30232110 (wabpwjht wwhsubp q< huwwn 148 000,0 1,0 148,0
30237200 hwiwlwpghsubph wwpwgubp Qg huwwn 12 000,0 1,0 12,0
30211280 hwiwlwpghy wdpnnep daynud qg hwwn 700100,0 3,0 2100,3
30211200 nynipwlhp hwdwywpghsubip QL hwtn 568 700,0 3,0 1706,1
38651200 wpnjYtnpubin < hwn 323 400,0 1,0 3234
30232110 |wabipwiht nwhsubip 9L hwwn 170 000,0 1,0 170,0
32341130 wlwiugtbpht npynn wlwugwljwiutp q< hwun 10 440,0 3,0 3.3
31151120 wuwthwt uungdwl wnpniputip Q< hwn 31 400,0 3,0 94,2
16 189,4
Stunbuwljut wwpwupbp
18141100 wpfuwinwupwiht dbnungubip 9L qnyq 200,0 30,0 6,0
18141100 wpluwnwipwiht Enungutip Q< qnyg 220,0 300,0 66,0
18141100 wfuwwnwupwiht dEnungubin Q< qnyg 250,0 240,0 60,0
18141100 wyuwwnwlpwih dbnungutip a< qnyg 1500,0 2,0 3.0
18421140 Jhlwtigugjw oguwagnpdiwl dinungutin a< qnyg 150,0 100,0 15,0




39812600 dwpnnn dwdniutip b thinghubp QL hwn 450,0 3,0 1,4
39831247 ;‘L"{‘:ﬁ:‘n‘t‘;’;‘” gy e e endiap. 9< thwp 700,0 200,0 140,0
24451141 whutnwhwhs hbinnuy wnuebip < huip 220,0 279,0 61,4
30831243 [Ywgph thngh wynniwn q< lg 1000,0 15,0 15,0
30831242 (Ywgph thngh dtnpny [Jwtwint hudwp q< ba 700,0 42,5 29,8
39831100 Ywgnn wnuelin Qg lhinp 550,0 51,0 28,1
39831100 (ywgnn Ynuetip Q< thinp 450,0 165,0 74,3
39831244  |own, nunbuwlwl q< Lg 1100,0 5,0 5,5
39831245 ofwn, htinnily QL thwp 400,0 60,0 240
39812410 Ywhnyph thwybgdwu dheng Q< hwn 700,0 73,0 51,1
39221490  |uwniugutip qc huwin 3300,0 2,0 6,6
39221490 uwniugubin 9< hwn 250,0 70,0 17,5
39812100 hwwwlh dwshly QL g 1400,0 2,0 2,8
39831273  |hwnnwlh dwppdw uynyetn Q< thwp 700,0 10,0 7.0
39531500 gnngh Ywnpubip < u2 5000,0 9,7 48,6
39831283 hwwnwyh YJugdwl jwe Q& hwn 300,0 78,0 23,4
39831283 hwunwlh Jugdw jwe QL hwn 400,0 170,0 68,0
39522330 dwppnn Yunpubip Q< hwin 500,0 263,0 131,5
39522250 thnant hwjwpdwy Yunpubp QL hwn 400,0 30.0 12,0
39811300 hnunwqbiphs, onh Q< hwn 500,0 50,0 25,0
33761100 gniqunpwuh pnine 9L hwtn 130,0 620,0 80,6
33761100 qniqunpwuh pnine g hwtn 150,0 200,0 30,0
39513200 nel wudkinnghly, bplobpwn 9L hwn 150,0 20,0 3,0
44511120 gngwpehwyubn Q< huin 2 000,0 10,0 20,0
18931170 Ywnphg wuwyntuwlubp QL hwn 100,0 200,0 20,0
19641000 wnihkphibuwht wwnl, wnph hudwp q< hwin 600,0 20,0 12,0
19641000 wnhkphiuwpt wuwply, wnph hwdwp QL huwin 800,0 20,0 16,0
19641000 wnihkehbuwht wwpl, wnph hwdwp S 14 hwtn 400,0 20,0 8,0
44611300 wnph Ynuwnbjubpubp q< hwtn 90,0 100,0 9,0
19641000 wnhkehiBuwht wwpl, wnph hwdwp q< hwn 70,0 500,0 35,0
19642100 wnihteh|Buwhl wy) wpnwnpwip q< hwtn 20,0 100,0 2,0
19642100 wnihbphiEuwht w)| wpnwnpwup < hwn 30 000,0 4,0 120,0
T e e e s 9< e 1200,0 40,0 48,0
Swblbnt hwdwp
19642000 wnihkph|buwht wwpl, uttnwhu 9L hwwn 1,0 500,0 0.5
39221410 wybutip 9L hunn 900,0 253,0 2277
39221410 wyt|ubip QL hwn 500,0 200,0 100,0
39224331 nny| wwuwndwub 9L hwtn 1000,0 4,0 4,0
39224331 nny| wwuindwub < hwwn 800,0 17,0 13,6
39224331 nny| wwuwndwub aL huin 500,0 10,0 50
39224332 nny|, ghuljwujuin q< hwwn 1500,0 20,0 30,0
39298300  |wnyudwitiubp 9< huwin 1000,0 5,0 5,0
39298300 Swnyudwuutp q< hwwn 700,0 5,0 3.9
19441200 uhuptinnhl ey q< g 1400,0 12,0 156,8
39224560 wynuihtwphpebn (Sniguw) Q< hwn 1100,0 20,0 22,0
39208910 wntiwdwnubp < hwn 200 000,0 1,0 200,0
31521470 Upinwlwts wkiputn niibignn gnigwitnuwuwnwlutin 9 hwun 100 000,0 3,0 300,0
39224331 nhy| wiwundwub < hwin 3100,0 2,0 6,2




33141118 wudbinnghlubip 9L huwin 700,0 3.0 2,1
33761400 preb wudknnghlubip q< hwn 200,0 10,0 2,0
2445114 wfuinwhwpg htinnwy tynuebp < thup 350,0 5,0 1.8
39831245 ofiwn, htnniy q< thunp 400,0 50 2,0
38411200 gtipdwswithtp Q< hwwn 350,0 20,0 7,0
24451141 wutnwhwuhg htinnuy bynuyetp 9< thwp 1600,0 10,0 16,0
2445114 whuwnwhuwtpg htinniy unyebp 9L thunp 1600,0 10,0 16,0
39831262 htinntly o6winh pwotuhs uwnp 9L hwwn 3000,0 2,0 6,0
33141129 nhdwy 9< hww 45,0 250,0 11;3
33621641 :}“‘”“’"h“’m s ey 9< hun 1050,0 600,0 630,0
hongutip
39831277 ofiwnf wywnndwn nhuwbtuubpubp QL hwun 2000,0 15,0 30,0
19441200 uhupbwhy el 94 Ua 1400,0 800,0 1120,0
33621641 E‘““”‘“h“’h’ huken gt} L nusustipe Ve huitn 1650,0 10,0 16,5
hongutip
39513200 eneb wusknnghl, bplokpn QL hwtn 800,0 20,0 16,0
39713410 hwunwyh Jwppdwu uwppbp Qg hwwn 25 000,0 1,0 25,0
39221480 gniqupwuh funquiiwlubip q< huwtn 1500,0 4,0 6,0
39839100 gnqwehwy, wnpp huwdwpbint hwdwp, dnnny qc hwn 5500,0 1,0 5,5
39514400 el upphsubinh wywndwn nhuwbuubip q< hwtn 15 000,0 2,0 30,0
34921440 pwihnuubph b wnph nwpwtbn b wnpwdwibbp 2 hwn 13 000,0 2,0 26,0
34921440 pwithnuttiph W wnph nwpwubp b wnpwdwutbp q< hwn 1900,0 9,0 17,1
39221420 funquitwlubp 9< hwtn 3 500,0 1,0 35
39221490 uwntuqutin Q< hwuwn 430,0 10,0 4,3
39831100 [Ywgnn Wnipbin Q< (htnp 550,0 4,0 22
39831245 ofiwn, htinniy qL (htnp 800,0 3,0 2,4
39522250 thngnt hwijwpdw Yunpubip q< hwn 750,0 2,0 1,5
18931130 Swupngubiph wwpltp uu hwin 140,0 7 000,0 980,0
35121500 hwinnty bpwbwyniejwt nkfuthywlwu dhengutin uu hwn 80 000,0 3,0 240,0
19721200 pwpap wdpnipjwl phibp uu lag 1400,0 250,0 350,0
18931220 abnph wuynwwyubp uu hwn 3500,0 23,0 80,5
6 051,3
Snpéhpliip
39241130 niuhybpuw) nwwyutp q< hwn 500,0 6,0 3.0
39241130 niupibpuwy nwbwlubp q< hwtn 100,0 50,0 5,0
4451170 thngfutip < hwwn 2 000,0 3.0 6.0
44511390 gnpdhpubiph pnuwljubp < hwn 800,0 10,0 8,0
16161100 w)| quuwqw wgbignpdwluiu uwppwynpnulutip QL hwwn 4000,0 10,0 40,0
44511200 abinph unngubin Q< hwun 6 000,0 5,0 30,0
44511130 wjgbgnpdwlwi Enwutbp Q< hwn 3700,0 20,0 74,0
14811300 hnynn uywwnwlubp QL hwwn 800,0 10,0 8,0
14811300 hnynn ujuywnwlubp q< hwin 1400,0 30,0 42,0
44511290 dwublwnwpswlubp QL hwwn 5000,0 1,0 5,0
44511290 Jwublwnwpdwyubp QL hwn 15 000,0 1,0 15,0
44511370 gnpdhpubph hwywpwéniubtip Qg hwwn 24 000,0 1,0 24,0
44511230 nnip 9g hwtn 7 000,0 1,0 7,0

267,0




Chuwpwpwijwl wuypwtptbn, vwihnwpulub
wblubljw, uwppbp

44163170 ntnhub funnnywly S< dbnp 400,0 25,0 10,0
39515440 ninnwhwjwg 2Epnuwywpwgnyp q< u2 5000,0 36,4 181,8
24911500 unupd (wkpngn)) < hwin 2500,0 27,0 67,5
31711160 biywpnnutp < lg 1200,0 10,0 12,0
44511220 tnwpwinbiuwl dkinph gnpdhpubip < hwtn 2000,0 1,0 2,0
44411740 qniqupwuwlynup L hwwn 30 000,0 2,0 60,0
42121190 oph wndujbp QL hwwn 15 000,0 1,0 15,0
42121190 oph wnuwkn Ere hwn 35 000,0 1,0 35,0
38421110 opwswithtin Qg hwwn 230 000,0 4,0 920,0
444110 onh dnpwly, T thwljwuny g< hwwn 1 000,0 30,0 30,0
42131470 dnpwyubph dwubp QL hwtn 700,0 10,0 7,0
42131170 opwyht hnuptinh Yupgwynpdwl thwlwuubp 9L hwwn 1500,0 6,0 9.0
42131170 opwjht hnupbiph Yupgwynpiwl thwlwutibp Q< hwtn 2 000,0 2,0 4,0
44163280 oph L gnpnpant fjunnnywljubip 9L hwn 1000,0 20,0 20,0
44521120 nnw thwlwuukp 9L hwwn 5000,0 1,0 5,0
44221171 nnutiph hwdwp vwhdwbwdguyndubp q< hwwn 8 000,0 4,0 32,0
44221171 nnutiph hwiwp uwhdwuwhwynudubp QL hwtn 10 000.,0 6.0 60,0
44221171 nnutiph hwdwp vwhdwuwthwyndubp QL hwtn 13 000,0 2,0 26,0
42131480 thwlwubiph dwubp Q< huwn 6 000,0 10,0 60,0
44111413 jnunwiubiply 9L Ug 2500,0 20,0 50,0
44821000 |wp, dwipwhwinwyh 9< (hwp 5000,0 10,0 50,0
aana7 bwuwubiply QL g 1300,0 10,0 13,0
44111414 ubipy’ jwnbpuwh 4 g 900,0 50,0 45,0
44111412 utiply, 2htwpwpuljwu qc ug 1500,0 8,0 12,0
14811300 hnynn uywywnwlubp q< hwn 14 000,0 2,0 28,0
44531110 thwjnh wwnnuwnwlyubp Qg Ug 2200,0 0,5 1,1
44511260 hnywpenine QL u2 1900,0 1,0 1,9
44511260 hnyuwpenine 9L u2 2000,0 1,0 2,0
44511260 hnyuwgenine q< u2 2100,0 1,0 21
44521230 gnnéhpubph hwlwpwdniubip qc hwwn 10,0 500,0 5,0
44521230 gnpéhpubiph hwlwpuwdniubp Q< hwwn 10,0 500,0 5,0
44192630 htnynwu < hwn 40,0 25,0 1,0
44192630 htinynwu 9< hun - 50,0 25,0 1,3
44192620 Ubifu dhunwnulywu q< Lg 800,0 3.3 2,6
44192620 Ubifu dbunwnuwlw L Ua 800,0 3.3 2,6
44192620 Ubu dEnwnulwt Q< Yo 800,0 3.3 2,6
44521170 Ynnubipubip < hwtn 2 000,0 20,0 40,0
44411751 uwuhwugnygh pwph wwpwagwubp QL hwwn 2500,0 3,0 7,5
44411710 uwUhwbgnygh tunwnknkp 9 hww 4000,0 5,0 20,0
44411751 uwbhwtgnygh pwph wwpwgqwubp qc hwn 4000,0 8,0 32,0
44111200 ghdbin Q<L Ua 60,0 7 500,0 450,0
14211000 wywg, Zhuwpupwljwu Q< d3 7 500,0 10,0 75,0
44163130 wwpwuubp 9< dbinp 1200,0 65,0 78,0
44521120 nnuwb thwljulbp ag hwtn 2500,0 6.0 15,0
44112170 (huninud q< u2 2000,0 150,0 300,0
44161130 onwinwin funnnyuwlyuwpuwinbip 74 dbnp 40,0 100,0 4,0




44163170 nbwnhub funnnywy qC ubwnp 400,0 40,0 16,0
44221100 wwnnthwubp G< u2 25 000,0 30,0 750,0
44118400 wpnpuwunpy Q< u2 3700,0 216,0 799,2
42661300 Bnwlgdw uwppbip Q< hwtn 44 000,0 1,0 440
31221241 rynLwybj-wjinninwly < hwn 25,0 150,0 3,8
31221241 ryniybi-winnunwy Q< hwn 20,0 150,0 3,0
31641216 hwwnntl) wwnnunwy Q< hwn 500,0 2,0 1,0
44163270 funnnyuwlwiht uwnptip Q< huwin 700,0 30,0 21,0
44163270 funnnywluwht uwppbip QL hwwn 500,0 30,0 15,0
44163270 funnnyuwljuyhts uwppbip q< hwun 900,0 50,0 45,0
44423600 Yuysnits dwuitbp 9 hwin 500,0 20,0 10,0
44511330 wwnnunwlwhwuutin QL hwwn 10 000,0 1,0 10,0
30197100 Lwphsh dtunwnwiwnl Ywuwbp, dué < wnnih 2600,0 15,0 39,0
39263420 wiipwly, UbS Q< wnth 1000,0 20,0 20,0
42661500 bnwlgdwl ns kitynpwlwt uwppbip 9< hwwn 1200,0 10,0 12,0
24911900 uwihyh unuhué uu lg 180,0 350,0 63,0
44921500 stithwdwshly' ghwuwht uu lg 1500,0 6,0 9,0
19521300 wnihumhpnilr uwhlutp uu a2 4000,0 45,0 180,0
44411300 (Ywgupwbn huin q< 43 000,0 1,0 43,0
39141360 [nnwubbjulh Ywhnyp huin ac 50 000.0 1.0 50,0
39141360 innuubtywlh Yuhnyp hwtn 9< 25 000,0 1,0 25,0
44411740 gnigupwiwlnup huwin Q< 55 000,0 1,0 55,0
44411760 gniqupwuh penph pruwly hwwn 9L 9 000,0 1,0 9,0
5026,0
Ubbgwnuiht wkjubihiw
39714210 onnpwlhs, 9000 BTU Qg hwin 230 000,0 3,0 690,0
39714230  |onnpuljhs,18000 BTU < huwtn 300 000,0 1,0 300,0
39721310 onuwinwpuignighsubin Q< hwtn 37 000,0 4,0 148,0
42511129 nwpwdph Yunpnuwgywd ghnnigdwl Yupuwubn q< hwn 450 000,0 1,0 450,0
39711350 duwnug 9< huwwn 130 000,0 1,0 130,0
44511220 inwpwwnbuwl dtinph gnpdhpubin 9< hwn 80 000,0 1,0 80,0
so721500  |pUnmulusl nnwpwignighs SEnduyRl 9< huin 35 000.0 1.0 35,0
bwpquiynphsny
31151170 dwpwnyngutiph |hgpwynphsutip QL huwin 5000,0 4,0 20,0
31442100 nunwlhs dwpinlyngutip Q< hwn 2100,0 80,0 168,0
30714220  |onnpuilis,12000 BTU Q< hwin 270 000,0 2,0 540,0
39714240  |onnpuwlhy, 24000 BTU Q< huin 320 000,0 3,0 960,0
39714230 onnpuwlhs,18000 BTU QL huwn 300 000,0 5,0 1500,0
30221290  |ehjupy q< huwtn 25 000,0 1,0 25,0
39711220 bbluinpwlw upébitiutp QL hwtn 205 000,0 1,0 205,0
39711140 Eugunwiht uwnlwpuwlubp < hwn 280 000,0 3,0 840,0
39711290 Uhypnwihpuwiht Junwpwuubp Q< hwtn 65 000,0 1,0 65,0
32324900 htinnwunwgnygutip G hwtn 180 000,0 2,0 360,0
18521100 dwdwgnygubip Q< hwtn 15 000,0 1,0 15,0
39713432 thnpbljny G< hwwn 235 000,0 1,0 235,0
39713432 thngtiyny 9 hwn 82 300,0 1,0 82,3
6 848,3
Ef, Usqpuiphip, uwippbp
31211120 wuwywhnyhgubiph wplnbip gL hwtn 30000 3,0 9,0




31681630 biyunpwlwy wwywhnyhs, nw$wg, 63U Qc huwtn 6 000,0 17,0 102,0
31681600 Eilunpulwt wwwhndhs, q< hwn 3000,0 1,0 3,0
31211180 wyuinndwin wugwenhsubip G hwn 1000,0 5,0 5,0
31211180 wyunndwn wugwnhsubip 9 hwn 1600,0 5,0 8,0
31211180 wywunndwin wugwwnhsubip 9 hwn 1700,0 2,0 3.4
31681600 Ellunpulwt wiwwhnyhs, 4< hwin 350,0 4,0 1.4
31681600 Eibyunpwlwt wuywhnihg, Q< hwtn 600,0 4,0 2,4
31686100 bibYywpwlwt fupng' dhwplibn, hnnugnung, -16U 74 hwin 250,0 60,0 15,0
31331270 Eﬁ'm”wqwn pop Byplep, puniusghe, L2 | gy dtunp 200,0 200,0 40,0
31331280 E‘;;m"“’“”‘n e PO Pigh, TS | dtn 250,0 1000,0 250,0
31331290 E‘:;“"“”‘l‘“‘“ by upibin, pugishe, UBL2A0] g dtnp 400,0 100,0 40,0
31321110 gwédn U dhoht jwpdwu dwynifutbp q< dbunp 600,0 100,0 60,0
31683400 tinwpwafuhy Q<L hwn 800,0 10,0 8,0
31685000 bieyunpuilwt Eplwpwgdwl jwp Q< hwin 1800,0 3,0 5,4
31685000 biEyunpulwt bplwpwgdwt jwp q< hwn 1900,0 5,0 9.5
31685000 bihupwlwt Eplwpwgdwl wn 74 huwin 2000,0 4,0 8,0
31685000 biGYunpwlw Gplwpwgdw wp QL hwn 2600,0 5,0 13,0
31685000 bieYywpwlwy Eplupwgdwl (wp Q< hwn 3500,0 1,0 3.5
31684400 Jupnul q< hwn 700,0 10,0 7,0
31681100 biyupuiliwt wwpwquwbp Qg hwun 25 000,0 1,0 25,0
31681900 EiEYunpwilwl whnuhg (nnt) < hwwn 25 000,0 1,0 25,0
31512360 (ntuwipdwljubp qg hwn 50 000,0 5,0 250,0
31512360 |nwwpdwlyubip < hwn 13 000,0 8,0 104,0
31531680 gbpblwjh jwidwh deluwnplhy Q< hwn 1700,0 30,0 51,0
31531210 ElEywpwlw jwdwy, 60W, 80W, 100W Q< hwn 120,0 105,0 12,6
31531210 biyunpwlwi jwdy, 60W, 80W, 100W Q<L hwin 100,0 15,0 1,5
31531300 tnunbiunn pudwybip Q< hwwn 1100,0 10,0 1,0
31531100 biEywnpwlw jwiwbp Q< hwin 1300,0 20,0 26,0
31531100 biEynpwywi jwdwbp 9L hwwn 1500,0 70,0 105,0
31521560 wpunwpht nuwynpdwt wdwbp Q< hwn 1700,0 660,0 1122,0
31531300 intinbunn jwiwbp q< hwn 1900,0 12,0 22,8
31531300 wnuwnbunn jwdwbp Qc hwn 1600,0 30,0 48,0
31521440 wnuwdwnh [hyutip q< hwwn 1000,0 2,0 2,0
30121320 wnwhsutiph ebpdwlywynitwgnighs uwnpbp q< hwn 10 000,0 4,0 40,0
30121320 wnwhsubiph obipdwljwynitwgnighs uwppkip Q< hwwn 10 000,0 4,0 40,0
31521500 wnwuwnwh nuwynpdwi uwppbp Q< hwwn 4 000,0 6,0 24,0
31321110 gwdp b dhoht jwpdwt dwinitutbp < dbunp 550,0 15,0 8,25
31211180 wywnndwwn wuguwinhsubin QL hwwn 3200,0 1,0 3,2
31531300 wntwnbunn jwdwtn Q< hwn 1100,0 25,0 27,5
31221180 (wlwtinh Ynpwnubp < hwn 650,0 25,0 16,3
31221190 dhwgnighsubip U Ynuwnwlnwht tnwppbip Q< hwn 5500,0 16.0 88,0
2 646,7
Uwjwup, upphsbbp, hwnbpswtp
18811130 Ywnisntyhg Gunpwynp Ynphlubp Q< qnuyq 3 000,0 22,0 66,0
39514500 bpbuh upphsubip q< hwn 1200,0 30,0 36,0
18311190 luwjwp Q< huwin 5000,0 14,0 70,0
39221120 uLjuiup G< hwn 200,0 2,0 0,4




39221120 uwjwup QL huwin 400,0 1,0 0,4
39221230 YEpwypwnbuwlubph wwwnpwundwy ywpwguwubnp Qg hwin 1500,0 2,0 3,0
39221140 hijh Ywd unipéh pwdwlubip q< hwuwn 900,0 6,0 5,4
39221140 pljh Ywd unipbh pwdwlubn Q< hwn 600,0 6,0 3.6
39221130 pwdwlutp 94 hwn 500,0 6,0 3,0
39221260 wthubiubp B4 hwtn 1000,0 6.0 6.0
39221120 uwjwiup S hwin 12 000,0 1,0 12,0
18311190 juwjwpe Q< hwwn 6 000,0 12,0 72,0
18311190 [uwjwp Q< hwtn 550,0 150,0 82,5
18811180 hnnuwpwihtp < qnyg 45,0 150,0 6,75
35811170 hwiwqgbuwn q< (nuwijuqu 50 000,0 33,0 1 650,00
39221130 pwdwljutip q< huwin 1000,0 24,0 24,00
39221380 grwubnp q< hwn 400,0 30,0 12,00
39221380 qnwjubp q< hwwn 300,0 30,0 9,00
39221390 wwinwnwpwnubnp 9< hwn 400,0 30,0 12,00
39241120 funhwungwiht nuiuwlubp Q< huwin 500,0 20,0 10,00
2084,1
Utiunuidpbpp
15421100 wpliwdwnlh dbp, nwbhuwgyws, (quwd) QL thwp 1000,0 10,0 10,0
03211100 gnpbu q< g 200,0 500,0 100,0
03211400 quph QL g 155,0 15 000,0 23250
15511200 e uu (htp 450,0 12,0 5,4
15542100 Juplwsnn nwuwywu uu Yg 1800,0 2,0 3,6
15551900 Wwnwunwly uu Ug 1200,0 1,0 1.2
15551600 dwdnit uu lg 900,0 3,0 7
15512000 pRYwubp uu g 1000,0 15 1.5
15542240 skinwn wwuhp uu Yg 4500,0 1,0 4,5
15541300 fewnd wwuhp uu 1 8 000,0 1,0 8,0
15541100 wwuhp, |nnp uu Lg 2700,0 1,0 27
15541100 wwuhp, |nnh uu Lg 2700,0 1,0 27
15531100 Lwpwg uu Yg 5500,0 4,0 22,0
15431111 dwpgwnhu uu Ug 1300,0 0,5 0,65
15511700 Ywph thnah uu lg 4000,0 0,5 2,0
15511600 funwgpwd Ywp uu Ug 1000,0 2,0 2,0
15511800 Yudhp uu thunp 1500,0 2,0 3,0
15551300 jngnipun uu Yg 1600,0 0,5 0.8
03142520 ant, 02 Yung uu hwtn 90,0 24,0 2,2
15111120 wnwywph dhu thwihny uu yg 4 000,0 15 6,0
15131100 bpghYybinbu L bdwiwinhy duwdptipp uu Uag 2 800,0 8,0 24
15131400 fungh duhg Wwwnpwuwnywd wpunwnpuup uu Yg 3500,0 3,0 10,5
wiEese (T obephLbangh tuhg upenpos e uu Ug 7500,0 3,0 25
wpuwnpwup
131650 |dwnh U hnnph duhg wunnpuiuunduid uu g 11000,0 30 33,0
wpLhwnpwup
15131230 wwwnbin Uu g 3500,0 1,2 4,2
wisigsg | U bonph fihg unmeguies uu g 1400,0 2,0 2.8
wptwnpwup
15131650 |"dnh U hnneh duhg wuinuuingus uu g 1550,0 15 2,325
wpunwnpwup
15131631 uh wuwhwdn uu lg 1050,0 4,0 42




15131400 fungh duhg wwwnpwunwd wpnwnpwp uu lg 2900,0 5,0 14,5
s [eephichopslidhe O uu ™ 4000,0 50 20,0
wpuwnpwup
15119610 antly hatuwl uu Ug 2500,0 4,0 10,0
15235300  |wwhwénjugyws sy Uu g 1550,0 1,5 2,325
15231400  [wuyfuunwd any Uu g 1500,0 2 2,25
41111100 puwbine gnip uu thwp 93,0 228 21,204
2678,1
Lwipnpuwinnp uwpwqubin, uwpphp
30192125 dwplytpubp < hwun 700,0 17,0 1,9
38421230 futnwswith 9L hwn 6 000,0 1,0 6,0
38311400 znuwipiptin Q<L hwn 3000,0 1,0 3,0
33191310 thnpawunpubp S hwun 140,0 1200,0 168,0
15991700 $hinph penine 9L ug 4 000,0 15,0 60,0
38411200 gtipdwswihbn 9L hwwn 40 000,0 3,0 120,0
42991410 fuwnthstbip 9L hwwn 150 000,0 1,0 150,0
42991270 nnqwynpnn uwnpbp Q< hwn 8 000,0 3,0 24,0
33191316 wwywlt swihhs dktgniplw® hnyyws Jghyny q< hwwn 4000,0 4,0 16,0
33791300 (wpnpwwnnp wujubjw wpnwnpup q< hwuwn 4000,0 5,0 20,0
38431760 jwpwnwnnp onuwiht punthp QL hwn 300 000,0 1,0 300,0
33791300 (wpnpuwwnnp wwjwljuw wpuwnpuup < hwn 150,0 20,0 3,0
3314121 pcplywljwu wy) gnpdhpubp b wwpwgwbin Q< hwuwn 2000,0 10,0 20,0
38591200 phihwljwt wpnpwinnphwnud Yhpwndnn uwpptp QL hwwn 450 000,0 1.0 450,0
38411200 gipdwswihtn ag hwwn 650 000,0 1,0 650,0
35121290 unhsubip Q<L hwn 15 000,0 1,0 15,0
38421180 dwundbiwnpbip QL hwn 15 000,0 1,0 15,0
38931100 funtiwynipjwt swihdwl uwppbip Q< hwun 25 000,0 1,0 25,0
38421160 swthdwt b hulnnnusjuit uwppbip ag hwtn 45 000,0 1,0 45,0
38411600 ph swihhsutip {< hwn 35000,0 1,0 35,0
38431140 Jbpnidnieywi uwppwynpnuubin Q< hwwn 100 000,0 1,0 100,0
38431140 Yepinidnuejwi uwppwynpnudubn 9L hwn 60 000,0 1,0 60,0
42211210 Uwlwpnubinbiy wwwnpwunbine dEpbuwbp q< huwwn 35 000,0 1,0 35,0
39221100 funhwinguwjht uwpptip 9< hwn 80 000,0 1,0 80,0
42211200 ulitinwupbpph dawldwl depbuwlwp 9L hun 250 000,0 1,0 250,0
33951400 LEbuwpwbwlwt wwwgnygubiph unwgdwl ac —_— 190 000,0 10 190.0
hwwpwdniubip
38431140 Jbppmidnipguit uwppwynpniuiubip q< hwn 750 000,0 1,0 750,0
38431140 Ybpnidnipjuit uwppuwynpnudubip q< hwtn 750 000,0 1,0 750,0
38431140 Yapmidniejwiu uwppwynpnudubp a< hwn 2 300 000,0 1,0 2300,0
38591200 phihwlwt jwpnpuwwnnphwnd Yhpwndnn uwpptin Q< hwn 4 000 000,0 1,0 4000,0
39181100 jwpnpwwinnphwih ubnuttbn < hwun 174 000,0 1,0 174,0
39181100 jwpnpwwnnphwih ubnwutbp a< hwn 214 800,0 5,0 1074,0
39181200 jwpnpwnp Yuhnyp S (nulwqd 174 000,0 2,0 348,0
39181100 jwpnpwwnnphwih ubnwttibn L hwun 244 500,0 4,0 978,0
39181100 wpnpwwnphwih ubnwutbp < hwwn 354 000,0 1,0 354,0
38591200 phihwlwt jwpnpuinnphwynud Yhpwnynn uwppbip QL hwwn 102 000,0 1,0 102,0
39181100 jwpnpwwnnphwih ubnwititn < huwn 364 800,0 1,0 364,8
39181200 jwpnpwnnp Juhnyp aL mwhwqd 195 000,0 1,0 195,0




39181100 |wpnpwwinphugh ubmwtbp 9 hwn 244 500,0 2,0 489,0
39181100 (wpenpuwnnphugh ubnwtubp T4 hwn 354 900,0 2,0 709,8
38591200 phipwlw jwpnpwwnnphwynd Yppwnynn uwppbn < husn 102 000,0 2,0 204,0
39181100 |wpnpwwnphwih ubnwlubp Qg huin 174 000,0 1,0 174,0
39181100 (wpnpuwwnnphwih ubnwlttp Q< hwn 354 000,0 1,0 354,0
38591200 phdhwlwt jwpnpwnnphwjnd Yhpwnynn uwppbp < hwwn 102 000,0 1,0 102,0
39181100 |wpnpwwnnphwih ubnwuubp 9< hwwn 255 000,0 1,0 255,0
39181200 jwpnpwinnp Ywhnyp 9< hwn 742 800,0 1,0 742,8
39181100 (wpnpwwnnphwih ubnwuubp q< hwn 364 500,0 2,0 729,0
39181200 (wpnpwwnnp Yuwhnyp q< (nwywqu 195 000,0 2,0 390,0
39181100 |wpnpwunnphwih ubnwubp < hwn 96 000.0 2,0 192,0
39181100 jwpnpwunnphugh ubnwubp 9L hwn 144 750,0 4,0 579,0
39181100 (wpnpwnnphwih ubnwuubp QL hwin 214 500,0 2,0 429,0
39181200 wpnpwwnnp Yuhnyp Q< (nwlwqd 174 000,0 2,0 348,0
39181100 (wenpwinnphwih ubinwuttn g< hwn 90 000,0 1,0 90,0
39181100 Jwpnpwnnphuwih ubnwuubp Q< hwn 90 000,0 1,0 90,0
39111140 wpennubip Gg hwin 21 600,0 10,0 216,0
38651230 fungnpwgnighsttin 9< hwtn 2000,0 1,0 2,0
31512320 nyunpwdwunwlwgnyl wdwbp qc hwtn 25 000,0 3.0 75.0
31711440 EiEyuwnpnuwihu funbigpuy ufubdwubp q< hwn 90 000,0 1,0 90,0
38421220 mdh quwhwindwl uwppwynpmdutip QL hwn 80 000,0 2,0 160,0
38421220 nwth guwhwwndwu uwppwynpnulubp Qg hwn 105 000.0 1.0 105,0
42121100 hhnpwihly Ywd onw6ushs (wulwwwnply) gutubp q< huin 35000,0 2,0 70,0
44163180 wnnwwunb funnnywy C Yg 511,9 168,0 86,0
44521160 onewubp QL dbiwnp 4200,0 7.5 31,5
44521160 onpwlbn Q< dbwnp 4 000,0 7.5 30,0
42141200 Yupnwbwht jhubnubp qc hwn 50 000,0 1,0 50,0
42141190 thutinubiph Ygnpnhsubip Qg hwun 55 000,0 1,0 55,0
ssonidpp | Pswpukautpil oiugRugtID gl a< huwtn 555 000,0 1,0 555,0
hwywpwdniubp
33191310 thnpawnpubip q< hwtn 6 000,0 6,0 36,0
33191310 thnpawunpubip < hwwn 27 500,0 2,0 55,0
33191310 thnpawunpubn Q< hwn 27 500,0 2,0 550
33191310 |thnpawunputip q< huwtn 27 500,0 2,0 55,0
[wpnpwwnnn wqnwiniebn (nbwgbunutn) q 380 0 10 3800
33691420 P, ‘e Ipwljwau 000, i ;
sagoiagy  |MePUNNO iartniet (niubtinibg) q¢ | jpulwqs | 360000,0 1,0 360,0
pwquwyndwnublwn
42921180 Lpbinpubip Q< hwin 220 000,0 1,0 2200
38411400 funtuwywswihtp Q< hwwn 490 000,0 1,0 490,0
38431140 Ytpndnipjui uwppwynpnwdubin q< hwin 1050 000,0 1,0 1050,0
jogdzon  |“PURSRRDMUARN panuie sumpun iy a< g 2 400,0 20,0 48,0
Sdwdltipnt hwdwp
33691160 phihwlwt wanuwiniptp (nbwgbunubn) L hwin 153 000,0 1,0 153,0
33191310 thnpdwunpubip qg hwn 50 000,0 3,0 150,0
33191310 thnpdwtnpubin 9< hwn 50 000,0 3,0 150,0




42911160 oph dwppuwl uwppunpnuiubp G hwwn 120 000,0 1,0 120,0
42941110 Ywnwpwutp b npwtg wwpwgwbp Q< hwn 198 000,0 1,0 198.0
42941160 pulyndwt juynibwebipdng (pEpinuwnwn) 9L hwtn 498 000,0 1,0 498,0
38431430 pwihwhwphsubp L npwug wwpwowbpp < hwn 121 000,0 1,0 121,0
33191312 wwwyt Ynpw 9L hwtn 1200,0 50,0 60,0
33191312 wwwlt Ynjpw q< hwn 1200,0 15,0 18,0
33191314 wwwlb pwdwihs dwqup /hnyyws Yghyny q< hwun 1000,0 40,0 40,0
33191314 wwwlb pwdwuhs dwqgwn /hnyyws Yghlyny Q< hwwn 800,0 30,0 24,0
33191312 |wwuilt Ynpw Q< huwtn 1000,0 20,0 20,0
33191312 |wwuwlb Ynpw ac hwtn 200,0 10,0 2,0
33191312 wwjwlb Ynipw Q< hwwn 800,0 20,0 16,0
33791300 (wpenpunnp wwwljjw wpunwnpuwup Qg hwwn 1400,0 20,0 28,0
33791300 [WpNpWLINAD Wujwljw wpunwnpwup QL hwwn 1600,0 20,0 32,0
33791300 |wpnpwnnp wwywljw wpnwnpuup QL hwn 200,0 10,0 2,0
33191310 thnpdwunputp Q< hwin 1000,0 10,0 10,0
15991700  |$hpnph pninp qc Ug 4 400,0 30,0 132,0
33191317 |hwluwwwlt pwupl qc huwtn 1200,0 10,0 12,0
33791300 [wpnpwuinp wwwlju wpnwnpwlp Q< hwn 800,0 20,0 16,0
33791300 jwpnpwwnnp wwwljw wpnwnpup 9L hwtn 1000,0 20,0 20,0
33791300 (wpnpwwnnp wuwjwljw wpnwnputp QL hwtn 2000,0 5,0 10,0
39221270 PWU wjwuindwuuw)t qc hwin 450,0 50,0 22,5
33951400 Eﬁ}‘i’u‘j“f;”;";“;:n ARG GG i 9 huin 400 000,0 1,0 400,0
33951400 ﬂ:}‘::‘::}”;ﬁ”b“‘nb iyignygUiiph uiuigdut 9< huwn 355 000,0 1,0 355.0
33691400 ﬁ&?utqun?r;jnﬂﬂmphp Ll Q< pwlwqd | 149 000,0 1,0 149,0
27 152,3
#hihuiljw bynel, Ykbinuwbhtbp
33691400 ‘;&ﬂ‘t’fﬁﬁ;ﬁ‘;‘gmﬁb" g i) 9¢ | Lpwlywqs |  15000,0 1,0 15,0
33691400 ﬁﬂﬂ"‘"ﬂz ”"n‘tl‘sz‘:"”"‘t“ (nbuightntin) 9¢ | pwywes | 20000,0 1,0 20,0
33691400 ‘fl'ff:'."ml_'i.ln_‘u‘_I&‘_‘qhimmmn"["’m' T ac inwlwqd | 220 000,0 1,0 220,0
33691400 | T T R ¢ | |puwywqd | 20000,0 1,0 20,0
33601400 [P Tat G PTG T e 9< | jpwlywqd | 20000,0 1,0 20,0
TOO0 [Ty T R RRAIT e < | pwywqu | 20000,0 1,0 20,0
33691400 f"”ﬂ":‘“:"““”‘“‘:jf,””j""“ i q< nulwqd [ 20 000,0 1,0 20,0
33601400 LT TonE S R i 9< | |puwlwqd | 20 000,0 1,0 20,0
33691400 ‘ff:ff:‘ljtf“l‘ﬁlI“&,’IE?E"“““ e 9< inwlwqd | 20 000,0 1,0 20,0
24321660 qulwqul opquitwywl phuhwljwt Unipbip q< gpud 260,0 100,0 26,0
33621766 wnwipRnL Q< Yg 2 000,0 1.0 2,0
24311260 vuwwnphnuih hhnpopuhn Q< g 2000,0 1,0 2,0
33691163 wgwp, kunnwaqup Q< huwtn 30 000,0 3,0 90,0
24321610 uwuwpngu Q< Ua 8 000,0 3.0 24,0
33691163 wawp, Funnwagwn Q< hwwn 22500,0 1,0 2.5
33691163 waquwp, Eunnwgun Q< hwwn 22500,0 3,0 67,5
33691163 waqup, bunnwqup Qg hwn 22500,0 3,0 67,5
33691163 waup, Eunnwgup qc hwn 22 500,0 3,0 67,5
33691166 wwinpwunh dhypnphninghwljut dhgwdwip q< hwwn 50 000,0 4,0 200,0
32351310 utunh thwebpwynpiwl pwunwuplbp Q< hwun 25 000,0 1,0 25,0
24311260  |uwwphnuwh hhnpopuhr ¥4 bg 1820,0 4,0 7,3




24311271 YuighUwgywd unnw QL lg 560,0 2,0 1,1
14781100 Luughnud qc lg 2500,0 7,0 17,5
24311114 SoUpwlwu pen < Ug 1330,0 13,0 17,3
14411400 wnwiht jndnype q< thunp 100,0 6,0 0,6
24321860 wgnunuwljwu pent Q< g 1200,0 3,0 3,6
33691411 phihwywl wonwinuetp (nbwgbunutin) thnzh Yud ac i 700,0 9,0 6.3
gpwunyubp
33691862 $biupy hhnpwght 9< Ug 1730,0 3,0 5,2
24321440 puguiuwppent g Ug 2 000,0 10,0 20,0
24311127 uwwphnwh Ywppnuwn L Ua 1250,0 1,0 1,3
44921200 Uhp, thnzh < ITe4 250,0 200,0 50,0
03321800 Gwqupubp uu hwuwn 1000,0 150,0 150,0
33691163 wquwp, Eunnwaqwn Q< hwn 22 500,0 3,0 67,5
33691163 wquwp, unnwqun Q< hwtn 22 500,0 3,0 67,5
1384,1
Pdyljuljwl wwpwquibp, nbanpwip,
whwewpmduwljub nbnkp
33141141 Bpwlwiht hwdwlwngh, wpjwu thnpdwbdnpubph ac hustn 200,0 20,0 40
Ubpgdw uwppbip
33141300 &binungubip pdalwt ng uinbphy L hwn 150,0 100,0 15,0
33141156 pdoywlwl dtinungtbip 74 hun 30,0 1100,0 33,0
18311190 juwwp < hwn 450,0 20,0 9,0
33141129 nhuwly Q< huwin 50,0 200,0 10,0
18441100 giiuwplutin qc hwn 30,0 20,0 0,6
18811180 hnnwpwthGn 9L qnuyg 30,0 100,0 3,0
33141 Lusnit uwbnwuhubp QL hwn 5,0 50,0 0,3
33141112 uwbnwuhubp (wwuwhp) Q< hunn 400,0 5,0 2,0
33141110 Jhpwlwwtn QL hwtn 300,0 10,0 3,0
33141142 ubipwnlhsubp < hwin 50,0 50,0 25
33141142 ubipwplhsubn < hwn 40,0 50,0 2,0
33141144 pd7ywlwl wukmubp QL hwwn 30,0 200,0 6,0
43411100 inbuwywinpnn b dwnbin uwppbp q< hwn 4 800,0 4,0 19:2
24321400 kphy wiynhny 9L (hwnp 1800,0 2,0 39,6
24321311 hgnwpnwhy uwhpun QL (hwnp 1500,0 3,0 4,5
33141115 pdoljwlwl pudpuwly Q< hwwn 200,0 15,0 3,0
03111250 puwidpuly QL ba 2300,0 2,0 4,6
33141114 pdolwlwts pwtgh (Jwpyw) pwitnyeniup? 90ud QL dbiunp 150,0 70,0 10,5
33691208 :ﬂ::*:%t‘dhh;‘h(f"ﬂ:;‘:f:n”f:';2?{::;;1";‘1"1)&0 - ac huin 700,0 25,0 17,5
33611420 Yunghnuwih gyniyntiwn al2aa03, d11ax03 Q< hwwn 600,0 100,0 60,0
33671135 Yuighnuih pinphn. BOSXAO7 g hwn 500,0 10,0 5,0
33611350 wulnpphtwpeent g01ad03, sO1xals, al1ga0l 9L hwuwn 70,0 200,0 14,0
Pnwpeent, Ywwwnh wgbnwn, bwwnphnudp
33631440 ibitnpwpnpuan, nwil, uwihghwpeent, ghtlh opupn, q<L hwwn 400,0 20,0 8,0
wliwuntfuh jnin, hbipuwdtiphiEu wnbwpwdhy,
33691176 Wy nbnnpwip 9L hwn 700,0 30,0 21,0
33691176 wj| nbnnpwjp < hwun 9 500,0 3,0 28,5
33141213 |pdoljuwiljuwit Jughiht < g 12000 = s




33691176 |y nbinnpuyp 9 huwtn 7 500,0 1,0 7.8
33691176 w)| ntinnpuwyp < hwun 6 000,0 6,0 36,0
33691176 w) nbnnpuyp QL hwwn 400,0 10 0,4
33631150 ghulh opuhn, DO2AB QL hwwn 500,0 20,0 10,0
33691176 wy| nbinnpuyp Q< hwwn 3 000,0 30,0 90,0
33691121 wipbunwgn|p02ca03 Q< hwwn 7 400,0 3,0 2.2
2445114 wlutnwhuwhs hbnny wyniebp qc (hunp 6 500,0 3,0 19,5
33691176 [y ntmnpwjp < hwin 80,0 200,0 16,0
03341100 tnwywph wlwugubph whwnwyubp L e hwn 500,0 100,0 50,0
44511250 ubinuhs wpgquitiubin 9 hwwn 17 000,0 1,0 17,0
44511250  |ubindhs wpguitiubp Q< huwn 29 000,0 1,0 29,0
33691176 wy| pbnnpwp Qg hwin 7500,0 2,0 15,0
33691176 wy| nEnnpw)p QL hwun 2 800,0 20,0 56,0
33691176 wj| ninnpwyp 9< hwtn 3 000,0 50,0 150,0
33691176 wy| nEnnpuwyp 9L hwun 4 000,0 50,0 200,0
33691176 wy| nbnnpwjp L hwtn 600,0 300,0 180,0
33691176 wy ninnpwp q< hwiwn 2800,0 30,0 84,0
33goi7e0 b/ Dunngheudh taBupun, wnlnbtinph a< hutn 2300,0 30,0 69,0
wgbitnwun/
33691176 wj| nnnpwp Q< hwtn 700,0 100,0 70,0
33621680 wpnwpwunin| c07aa05 Q< hwiwn 1900,0 10,0 19,0
15911100 uwhpwn Q< (hwp 1600,0 3,0 4.8
33141115 pdalwlywl pwdpwl q< hwwn 200,0 10,0 2,0
33691849 wgktitnnt/ nhukeh| Yawnnu < lhip 1200,0 2,0 2,4
33621643  |hwlwubiuhs (wtnhubuunhly) hbnniyutip q< thwp 930,0 300,0 279,0
33141129 nhuwly < hwn 20,0 4200,0 84,0
24451141 wutnwhwuhy hbnniy unuetbp Q< lhup 145,0 90,0 13,05
39831245 ofwn, hbinniy Q< thtnp 156,0 150,0 23.4
33691176 wj| nbnnpuyp < hwwn 13 000,0 6,0 78,0
1965,0
foniwphdhunbibp, ywpwpinwbynuyebp L
qhlubgnpéwlu bynipkp
24451111 dhowinwuww hbnnly unuyebip < lhwp 15 500,0 10,0 155,0
24451120 dnjwunwnbiph nbd wwjpwpnn ujnipbp Q< lhwp 7 000,0 40,0 280,0
24441100 quliwquu wwpwpuwunyetp Q< Lg 240,0 750,0 180,0
24441100 qulwquwt wwpwpnwnuyekp < Ug 240,0 1500,0 360,0
24451110 dhownwuwwu unipbn Q< ug 10 000,0 20,0 200,0
24451111 dhowtnwuwwt hinnty Uyniebip G< thwp 22 000,0 20,0 440,0
24451111 dhgwinwuwwu htnnty bnupbip Q< (hup 10 000,0 7,0 70,0
24451200 uuytiph ntd wwjpwnh Unuyebn e g 1800,0 120,0 216,0
24451200 uuytiph nbd wwjpwnh wnuebp < g 4000,0 50,0 200,0
24451200 utiyph nbd wwpwnh unuebp q< Ug 2600,0 120,0 312,0
24451190 Ypdnnubiph nbd wwjpwnph Wniebp Q< Yg 11 000,0 10,0 10,0
24441100 quuwqui wwpwpuwbynyalp q< Yg 140,0 10 000,0 1400,0
24441100 qulwqwl wwpwpnwnyebn Q< g 200,0 15 000,0 3000,0
24441100 quiuwgqul wwpwpuwynyekp Q< g 200,0 5100,0 1020,0
24451111 dhownwuwywt hbinntly Wynietip QL thuwip 11 000,0 10,0 110,0
24451111 dhewnwuww htnnty yniypbn aQz thwnp 13 000,0 10,0 130.0
24451200 uulybtiph nbd wwjpwph Wnuyebp 9 Ug 13 000,0 10,0 130,0
2445111 dppwinwuwwt hinniy Yjniyatip < [htp 24 000,0 5,0 120,0
24451200 utiybiph nbd wwypwph Unietin Q< g 13 000,0 10,0 130,0




33691147 pnliwlnLpEn 9< {hnp 20 000,0 5,0 100,0
33691117 wpunbdbpbp + nuik$wuinphu p01bfol a< hun 5500,0 40,0 220,0
24451200 uuytph nbd wwypwnh wnyebip Q< Ug 5000,0 20,0 100,0
24451120 Unjwiunwnbiph nbd wwypwnpnn unyetip Q< (hinp 2500,0 64,0 160,0
24441100 quuwqu wwpwpuwnuestip QL Yg 125,0 800,0 100,0
24451200 uulybiph nbd wuypwph Wnebp Q< ug 2500,0 100,0 250,0
33691147 pniwbnyebp Q<L thwp 24 000,0 18,0 432,0
24451200 uuytiph nbd wuypwnh unuebin 94 lg 73 000,0 10,0 730,0
24451200 uulybiph nbd wwjpwnh uynuyebp Q< Ug 73 000,0 2,0 146,0
33691147 eniuwujnyatin 9< (hup 18 000,0 35,0 630,0
24451200 uulbph nbd wwjpwph Wnipbin gL Yg 13 000,0 30,0 390,0
24451200 utlybph nbd wwypwph uynypbip Q< Yg 7 000,0 50,0 350,0
24451200 uulybiph ntd wuwypwph wnptip q< Yg 11 000,0 60,0 660,0
33691147 pnliwtymptp Q< thunp 59 000,0 8,0 472,0
33691147 pniuwynyebn 9L thunp 14 000,0 8.0 12,0
33691147 pniuwnypbn q< (hup 75 000,0 1,0 75,0
2445111 dhownwuwwl hbinnly ujnuptin QL (htnp 21 000,0 13,0 273.0
2445111 Uhgwwnwuwwu hbnniy Unuyelip Q< Lhwp 15 000,0 10,0 150,0
2445110 Uhgwnwuwwl ujniptin Q& Ug 102 000,0 5,0 510,0
24451110 dhswuinwuwwl Uyniebp QL Uag 99 000,0 5.0 495,0
24451111 dhowiunwuwjw hnnly unypbip Q< thwvp 22 000,0 15,0 330,0
24451M dhgwinwuwjwt htinniy Uynuetip Q< lhup 10 000,0 4,0 40,0
2445111 Uhgwinwuwwu htinniy unipbp L i 23 000,0 2,0 46,0
24451M dhgwnwuwwu htinnty tynypbip < thwp 24 000,0 4,0 96,0
24451120 dnjwunintiph nbd wwjpwpnn tnpbp Qg (hwnp 7 680,0 100,0 768,0
24451120 dnjuifuninbiph nbd wwypwnnn Ynebn qc thtnp 13 000,0 20,0 260,0
15931910 ghubignpdwlwu pwlnbiphwubp Q< wnith 65 000,0 4,0 260,0
15931916 ghubgnpéwlwt Yuyniuwgunn uynypbip QL lg 15 000,0 2,0 30,0
24311290 &dnudp QL ug 1000,0 3,0 3,0

24111160 wgntn QL u3 2500.,0 24,0 60,0
15931911 ghubignpéwlwt pwlwnbphwubph utunwunetp 9L nnuth 30 000,0 4,0 120,0
39224440 226 s hwwn 30.0 400,0 12,0

39224440 22bp 4< hwn 10,0 400,0 4,0

39224440 2bkp QL hwn 200,0 3 060,0 612,0
39141370 ghunt dwnwih wwpwgwubp 9< hwun 1500,0 200,0 300,0
39224471 ghunt 22wgdwl wwnwagwubn < hwun 17 800,0 1,0 17,8

39224471 qhunt 22wigdwl Wwnwgwubn q< hwn 20 200,0 1,0 20,2

39224471 ghtnt 2wigdwil wwpwquwubp 9 hwwn 20 200,0 1,0 20,2
24311129 quiwqut wiopgwuwljuwt phuhwlwb Ynuetn a< gpwy 30,0 1000,0 30,0
24321840 wdnupnuwih nnnwupun q< LUg 1500,0 50,0 75,0
24321840 wdnuhnuih nnnwlihn Q< ug 1500,0 30,0 45,0
24311600 pRpwRent < bg 800,0 2,0 1,6

24321650 alhgbinhu Q< Ug 1500,0 4,0 6,0

14781100 Ywihned < g 2000,0 30,0 60,0
33611430 Ywihnudh jnnhn r05ca02, s01xa04, v03ab21 < Ug 40 000,0 3,0 120,0
33611430 Yuihnedh jnnhn r05ca02, s01xa04, v03ab21 < g 35 000,0 1,5 52,5
14781100 Yughnud q< Ug 2400,0 20,0 48,0
33691134 Lwipnuip pinphry al2ba01, b05xa01 < g 800,0 20,0 16,0
33621766  |wnwppnt q< lg 6 000,0 20 12,0




14771400 |ywighnus qc g 3000,0 20,0 60,0
twwnphnuwih pinphn, Ywihnuh pinphn, Yuighnuh
33691129 9< 800,0 5,0 4,0
pinphn (nhtughiph nidnye) e
14781200 dwqubghmd < lg 2500,0 10,0 25,0
24311129 quuwqwu wuopqwuwlwt phdhwlwu unetp < apwd 4,5 3000,0 13.5
24311114 sddpwlwl ppn Q< Ug 1000,0 5,0 5,0
24321660 qulwquwt opquuwlwl phihwlwl Uniebp 9 gpwd 3,0 50 000,0 150,0
24321660 quilwquu opquitwljwt phdhwlwl Ynyebp A< qpwd 15,0 10 000,0 150,0
24321660 quuwquw opquuwlwu phuhwlwu unuyebp q< gpwu 1,5 4 000,0 6.0
24321660 quiiwqut opquitiwlwu phdhwlwl Unyebp Q< gpwd 8,0 5000,0 40,0
24311129 quiiqul wiopgwuwlwu phdhwlwt Ynebp < gpud 30,0 1000,0 30,0
24321840 winuhnwih nnnwtpun < lg 1500,0 50,0 75,0
24321840 wunuhnwih nnnwupwn 9L lag 1500,0 30,0 45,0
24311129 quitwquw wiopquuwlwu phdhwlwl uynipbp L gpwd 30,0 1000,0 30,0
24311129 quiwquu wuopgwlwlwb phihwlwl Unyebp L gpud 1,0 3 000,0 3,0
24311129 quwquwt wuopqulwlwu phdhwlwl Wniebp Q< gpwd 6,0 3 000,0 18,0
33611430 Ywihnuwh jnnhn r05ca02, sO1xa04, v03ab21 q< lag 40 000,0 1,0 40,0
14781100 Yuihnui Q< yg 2400,0 2,0 4,8
33621766 winwgRnL Q< Ug 800,0 3,0 2,4
33691129  |vwwnhnuih pinphn, Ywihnuwh pinphn, Guighnudh q¢ Ug 2500,0 6,0 15,0
pinphn (nhtgliph nidnye)
14781200 dwqubkghnd q< lg 4500,0 5,0 22,5
24311129 qulwqwu wuopquwuwyw phdhwlywt Ynyebp Q< qpud 4,5 5000,0 225
24311260 uwwnphnuwh hhnpopupn qc la 1000,0 40,0 40,0
24311114 Sdupwlwu pRnL Q< ITe] 1000,0 20,0 20,0
24321660 qulwquw opgwuwlwu phihwlwl bnyebp < gpuwd 3.0 5000,0 15,0
24321440 pwgwiuwppnt 9L Ug 1200,0 10,0 12,0
24321660 quuwqwu opgquuwlwu phdhwlwu unpbn qg gpwd 8,0 3 000,0 24,0
24311420 tpluweh unydwin Q< lg 2000,0 3,0 10,0
24311200 $rubnpulwu ppn a< lg 1500,0 10,0 15,0
24311480 Ywihnuwh whpdwugwuwwn 9 lg 4 500,0 1,0 4,5
24321840 wdnupnwih nnnwuhn q< Lag 800,0 15,0 12,0
33691855 wpdwpeh Uhipwn =< Yg 600 000,0 0,2 120,0
24321660 qulwquwu opguuwlwu phdhwlwu Unipbp S< gpwy 850,0 250,0 22,5
sidoiieg  [TRMEInbRgpmn. (i buumguiOdably, 9¢ lig 100 000,0 02 20,0
v04cg05
33691851  |uwwnphnul - Yuihnul ghubppduwljul a¢ g 3000,0 2,0 6.0
33621766 wnwpRRn Q< Ug 1200,0 2,0 2,4
24321840 winuhnuih nnnwthun 9L Ug 3 000,0 5,0 15,0
24311410 wynwihup unibwin < ug 1200,0 5,0 6,0
24321660 quiiwgwu opquuwlwu phuhwlwu uyniyetp < qpwd 400,0 100,0 40,0
14711410 ghul dbunwnwlwu gpuunywgyusd i (S Lg 6 000,0 0.5 3,0
24311129 qulwqu wuopgwuwywu phdhwlywu Uniypbp q< gl 3D 500,0 15
24321440 pwguijuwppenL q< Yg 1200,0 1,0 1,2
24321660 qubiwqu opguwuwlwl phihwlwy unpbp qg g 600,0 70,0 42,0
24441100 quwqul wywpwpunwinietn 814 lg 1600,0 90,0 80,0




24441100 quuwquu wwpwpuwnuyebin q< LUg 1600,0 50,0 80,0
24441100 quuwquu wwpwpuwniebip 9c Lg 1000,0 50,0 50,0
24441100 quiiwquil wwpwpunwnuebin q< Lbg 1000,0 50,0 50,0
24441100 quiliwqw wwpwpuwlnipbn 9L Ug 1000,0 50,0 50,0
44421700 wplyntn uu hwn 450,0 530,0 238,5
44421700 wplyntp uu hun 570,0 712,0 405,8
39561140 nblynpwnhy quipnwuwfupbp uu hwuwn 9600,0 1,0 9,6
39561140 nbynpwinhy qupnwuwfuztip uu hun 9600,0 4,0 38,4
20769,4
Hpwubbywlusht Ywhnyp, gnyp
39111180 wenn' gpuubljwlywhu q< hwn 21 000,0 5,0 105,0
39111180 wpenn' gpwubtjwlwht q< hwn 10 000,0 20,0 200,0
39111220 pwqlupenn’ nGlwjwph Q< huwwn 90 000,0 1,0 90,0
39121520 gpwwwhwpwutbp Q< hwtn 59 000,0 1,0 59,0
39121520 gpuwjwhwpwiubp q< hwwn 73 000,0 1,0 73,0
39111180 wpenn' gpwubtywljwihu < hwin 6 450,0 2,0 12,9
39111180 wpenn' gpuublywljught Q< hwun 50 000,0 1,0 50,0
39111180 wpenn' gpuutitjwlwihu GL hwwn 21 000,0 1,0 21,0
39111180 wpnn’ gpwubljwljw)hu QL hwn 80 000,0 1,0 80,0
39121100 qpuubnuiiubp Q< hutn 36 000,0 22,0 792,0
39121440 ubnwu' bwjuwgwhnipjwu Q< hwtn 300 000,0 1,0 300,0
39141260 qgbunwwwhwpwuubp Q< hwin 110 000,0 2,0 220,0
39121520 gpwuwhwpwuutp Q< hwn 260 000,0 1,0 260,0
39111180 wpenn' gpuubitjwlwiht Q<L hwn 42 000,0 28,0 1176,0
30111170 wpenn' thwthny QL hwtn 40 000,0 2,0 80,0
30111230 thnpp pwqungubp 9C hwin 200 000,0 1,0 200,0
44421300 shpyhgynn wwhwpwuubp < hwn 105 000,0 1,0 105,0
39121200 ubinwiuutip Qg hwn 80 000,0 1,0 80,0
39111140 wennutp Q<L hwwn 33 000,0 4,0 132,0
39121500 funhwngwjhti wwhwpwbbp QL hwwn 195 000,0 1,0 185,0
39111220 puqupenn’ nblwywph Q< huwin 80 000,0 1,0 80,0
39111180 wpenn’ gpuwubijwywiht < hwn 110 000,0 1,0 110,0
39111180 wpenn’ gpwubjwlwihu Q<L hwin 85 000,0 1.0 85,0
4 505,9
Snunbip, pujninkp
09211100 qwpndhsh jninbip QL thuinp 3000,0 2,0 6.0
09211100 awpdhsh jninkin Q< thwp 3000,0 2,0 6.0
09211650 wnabjwlh htnndy Qc thunp 1100,0 8.0 8,8
ouzieon  |PIuhl hekuirgbpn L uy epnlpen. | g (hunp 2500,0 2,0 5.0
oginuignpdynn jnintin
09211400 thnfuwugdwt winwhh jnintnp L thnp 2 400,0 10,0 24,0
09211150 (hwinnp-24 q< b 1800,0 60,0 108,0
09211820 uwypwiht jninbp Q< lhtnp 1100,0 50,0 55,0
09134100 nhgbjwyhu jnunbp Qg (hwp 1200,0 310,0 372,0
09211100 swndhsh jninbip Q< (hup 1500,0 40,0 60,0
09211100 awndhsh jnintip 9< (htnp 4000,0 52,0 208,0
24951311 hwlwuwntgnighs Wnupbin q< thuip 700,0 70,0 49,0
09211620 inbutninghwlwu jnunbp aL (hup 10 000,0 02 2,000
903,8

Hunbihp




09411710 ubniywd puwlywu quq Hus g 350,0 15 600,0 5 460,0
09134200 nhabjwiht Juntihp, wdwnwpu QL [hwp 370,0 16 000,0 5920,0
09132200 pliughls, nbgnywp Q< (hinp 400,0 16 000,0 6 400,0
09132100 plughts, wpbdhmd QL lhwp 420,0 8 000,0 3 360,0
09132200 phughu, nbigniywp q< thunp 480,0 2500,0 1200,0
22 340,0
P I gy inbfubpyuh
44611200 qugh pwinutbp 9 hwuwn 50 000,0 1,0 50,0
42131250 quiquijhtu pwintubiph thwwuubp q< hwn 10 000,0 1,0 10,0
44161110 ququiht unnnjwluwwnbp QL dbiwnp 1000,0 9,0 9,0
42131250 ququiht pwinuubph thwlwuubp q< huwtn 25 000,0 2,0 50,0
35121290 wnyhsutip 9L hwn 2000,0 5,0 10,0
44322200 dwinifu, bGlunpwlwt jwp Q< ubinp 2000,0 58 11,0
31211100 Eilwnpwywy uwppwynpnudubph ywhwuwlubn qg hwwn 25 000,0 2,0 50,0
34331300 wywmnndbpbuwubiph wwhbuwnwdwubp q<L husn 5000,0 3,0 15,0
16811100 gniuntnbuwlwl uwppwynpnidubph dwubp < huin 1350,0 30,0 40,5
16811100 gninuintnbuwlwt uwppwynpnudubiph dwubp QL hwwn 250,0 60,0 15,0
16811100 qyninwinunbuwyw uwppwynpnwiubiph Jwubp QL hwn 1350,0 50,0 67,5
44531100 | PMUwRl Yuid wanujun wupnipuwlugnn 9¢ ™ 1200,0 3,0 3,6
wujpwupubip
44531180 duwiibl 9L Yg 1300,0 1,0 1,3
16811100 gninununbuwlwy uwppwynpnwubph dwubip 9L hwwn 400,0 100,0 40,0
34331300 wwnnibipbuwubiph wwhbuwnwdwubp < hwn 9 000,0 1,0 9,0
34331300 wywnndbpbuwubph wwhbunwdwubp q< hwtn 25 000,0 1,0 25,0
34331300 wywndbiptuwubph wwhGunwdwubp L hwtn 5 000,0 4,0 20,0
34331300 wywndbipbuwbinh wwhbuwnwdwubip Q< huwn 4200,0 6,0 25,2
34331300 wywnibpbbwubph wwhbunwdwubp Q< hwn 1 000,0 8,0 8,0
34331300 wywnndbpbuwubph wwhbunwdwubp 9< hwwn 1100,0 4,0 4,4
34331300 wywnndbpbuwubph wwhbunwdwubp 9L hwtn 2200,0 4,0 8,8
34331300 wywnndbpEuwubph wwhbunwdwubp q< hwtn 3 500,0 2,0 7,0
34331300 wyinndbpuwttph wwhbunwdwubip 9L hwn 3500,0 4,0 14,0
34331300 wywnndbpbuwlubph wwhbuwnwdwubp QL hwin 3700,0 1,0 37
34331300 wywnndbpbuwubph wwhbuinwdwubn 9L hwwn 4000,0 1,0 4,0
34331300 wywndbpbuwubph ywhbunwdwubp q< hwin 5 000,0 1,0 5,0
34331300 wywnnidbpbuwubph wwhbunwdwutip < hwn 20 000,0 1,0 20,0
34331300 wyinndbipEuwtbiph wwhbunwdwubip < hwn 5000,0 1,0 5,0
34331300 wywnndbipbuwubph wwhbunwdwubp q< hwwn 13 000,0 1,0 13,0
34331300 wywnnibpbuwubph wwhbunwdwubp q< hwn 20 000,0 1,0 20,0
34331300 wywnndbpbuwubph wwhGunwdwubp G hwin 15 000,0 2,0 30,0
34331300 wywndbpbuwubph wwhbunwdwubp qg hwn 8 000,0 2,0 16,0
34331300 wyinnibpEuwubph wwhbunwdwutp Q< hwtn 32500,0 2,0 65,0
34331300 wyunndbiptuwbph wwhbuwnwdwubp q< hwwn 8 500,0 1,0 8,5
34331300 wywnndbpbuwubph wwhbunwdwubp < husn 10 000,0 1,0 10,0
34331300 wywndbiptwubph wwhbumwdwubp Q< hwn 6 000,0 1,0 6,0
34331300 wywnnibpblwubph wwhbunwdwubp QL hwtn 4500,0 2,0 9.0
34331300 wiundbpbuwtbiph wwhbunwdwubn 9L hwn 6 000,0 1,0 6,0




34331300 wywndbipbuwubph wwhbunwdwuabp Q< hwn 4 000,0 1,0 4,0
34331300 wywnndbpbwubph wwhbunwdwubp Q<L hww 5000,0 2,0 10,0
34331300 wnndbipbuwubph wwhbunwdwutp q< hwwn 1500,0 2,0 3,0
34331300 wyinndbpbuwbbph wwhbunwdwubp QL hwin 1500,0 2,0 3,0
34331300 wywnndbpbuwubph wwhbunwdwubp QL hwun 3 000,0 2,0 6,0
34331300 wwinndbpbuwubph wwhbunwdwubp q< hwn 3 500,0 2,0 7,0
34331300 wywndbipbuwubinh wwhbuwnwdwubp Qg hwin 4000,0 1,0 4,0
34331300 wywndbipbuwutiph wwhbunwdwubp G< hwtn 16 000,0 1,0 16,0
34331300 wywinndbpbuwubph wwhbunwdwubp Q< hwwn 35 000,0 1,0 35,0
34331300 wywnndbpbiwubiph wwhbunwdwubn Q< hwn 5500,0 1,0 5,5
34331300 wiwnndbipbuwutinh wwhbuwnwdwubp 9L hwwn 1500,0 1,0 1,5
34331300 wywnndbiptuwubph wwhbunwdwubp q< hwn 2000,0 1,0 2,0
34331300 wiunndbpbuwubiph wwhbuwnwdwubp q< hwwn 15 000,0 2,0 30,0
34331300 wynndbipbuwubph wwhbunwdwubp Q< hwn 10 000,0 2,0 20,0
34331300 wynndbpbuwubph wwhbunwdwubp GL hwn 7 000,0 2,0 14,0
34331300 wwnndbpbuwubinh wwhbunwdwubn Q< hwn 7 000,0 2,0 14,0
34331300 wywnndtpbuwutiph wwhbuwnwdwubp Q< hwn 11 000,0 2,0 22,0
34331300 wywndbipbuwutph wwhbunwdwubp < hwun 6 000,0 2,0 12,0
34331300 wywnndbptuwubiph wwhbunwdwubp 3 hwn 8 000,0 2,0 16,0
34331300 wywnndbpbuwubph wwhbuwnwdwubp q< hwtn 11 000,0 4,0 44,0
34351600 gyninuintinbuwlwt Jepklwubph wupyubp e hwwn 180 000,0 4,0 720,0
34351600 gninwntunbivwlywl dbpbuwubph wuhyubp S< hwn 80 000,0 4,0 320,0
34331300 wywnindbpbwubph wwhbunwdwubp < hwn 27 000,0 2,0 54,0
34331300 wywndbipEuwutinh wwhbunwdwubp Q< hwwn 60 000,0 4,0 240,0
34331300 wywndbpbUwlbinh wwhbunwdwutip 4< hwin 32 000,0 4,0 128,0
34331300 wywnndtipbuwubiph wwhbuwnwdwubp < hwn 25 000,0 4,0 100,0
34331300 wywnndbpEuwubph wwhbunwdwubp Q< hwwn 65 000,0 4,0 260,0
34331300 wywndbpbuwlbph wwhbunwdwubp < hwtn 65 000,0 4,0 260,0
34331300 wyuindbptuwubiph wwhbunwdwutp ac hwin 40 000,0 1,0 40,0
34331300 wyunndbpbuwubph wwhbunwdwubp Q< hwwn 100 000,0 1,0 100,0
34331300 wynndbipbuwubiph wwhbuwnwdwubp q< hwwn 130 000,0 1,0 130,0
34331300 wyunndbpbtwtbph wwhbuwnwdwubp 4 hwun 15 000,0 2,0 30,0
34331300 wiinndbpbtwtbph wwhbunwidwubnp QL hwin 15 000,0 2,0 30,0
34331300 wiinnibipbwbph wwhbunwiwubp < huwtn 9000,0 2,0 18,0
34331300 wywndbipbuwlbiph wwhbunwdwutip Q< hwin 35000,0 1,0 35,0
34331300 wywnndbpuwutiph wwhbunwdwubp QL huwtn 10 000,0 1,0 10,0
34391100 npwlinnpubph wwpwgwubp Q< hwn 80 000,0 1,0 80,0
16811100 ginuwintnbuwlwl uwppwynpnwfubph dwubp Q< hwn 55 000,0 1,0 55,0
16811100 gnuinuintntiuvwlwu uwppwynpnwdubph dwubp qq hwtn 23 000,0 1,0 23,0
16811100 gninuintinbuwwt uwppwynpnudutiph dwubip &< hwwn 4000,0 4,0 16,0
16811100 gninwintnbuwlwy uwppwynpndubiph dwubp Q< huin 2500,0 2,0 5,0
16811100 qyninuintnbuwlwt vwppwynpndubiph duwubp < hwwn 2000,0 6,0 12,0
16811100 gyninwinunbiuwlwt uwppwynpnwtbph dwubp b hwtn 6 000,0 2,0 12,0
16811100 gninuintinbuwlwt uwppwynpnidubiph Jwubp Q< hwwn 14 000,0 2,0 28,0




31431100 Yywuwpwepywiht Ynunwlhsubp QL hwuwn 45 000,0 1,0 45,0
31431100 Yuwwpwppdwihu Ynunwlhsubp qc hwn 47 000,0 4,0 188,0
31431100 Juwwpwpeyuht Ynunwlhsubp < hwn 60 000,0 1,0 60,0
31431100 Ywwwpwpeywht Ynunwyhsubp < hwin 75000,0 2,0 150,0
44441200 qunhlwynp wnwugpwlwiubp Q<L hwun 3 500,0 12,0 42,0
42141190 (hutinubiph Ygnpnhsubip q< hwwn 55 000,0 1,0 55,0
34331300 wyunndbpbuwubph wwhbunwdwubp Q< hwun 7 500,0 1,0 7.5
34331300 wywndbpuwutinh wwhbunwdwubp Q< hwun 10 000,0 1,0 10,0
34331300 wyinnubpbEiwbph wwhbunwdwubp Q< hwn 1000,0 2,0 2,0
34331300 wyinndbiptuwbbph wwhbunwdwubp < hwn 40 000,0 1,0 40,0
34331300 wywnndbpbuwubph wwhtunwdwubp q< hwn 6 000,0 2,0 12,0
34331300 wywnndbpuwubph wwhbunwdwubp q< hwn 7 000,0 2,0 14,0
34331300 wyinndbpbuwtbph wwhbunwdwubp <L hwn 12 000,0 1,0 12,0
34331300 wywnnibpbuwubph wwhbunwdwubp ag hwun 1500,0 2,0 3.0
44441200 qunhfwynp wnwugpwlwiubp Q< hwn 2200,0 3,0 6,6
44441200 gunhlwynp wnwugpwluwutp < hwwn 5500,0 4,0 22,0
44441200 qunhywynp wnwugpwlwubp QL hwtn 4 400,0 2,0 8,8
44441200 qunhywynp wnwugpwlwiutp 574 hwuwn 3000,0 4,0 12,0
44441200 qunhlwdnp wnwugpwluwiubp 9< hwin 9 000,0 1,0 9,0
44163171 nbnpub funnnduly 1, 1/2" 9L dbuinp 4 000,0 8,0 32,0
44423640 ntiinpubi dhgwnhpubip 9< hwn 200,0 10,0 2,0
44423640 nbiinhubs dhownhpubtip q< hwn 200,0 6,0 1.2
44423640 ntinpub dhownhpubp QL hwn 200,0 4,0 0,8
44423640  |ntunputs Shownhputip ac hwwn 650,0 4,0 2,6
44511160 onpwlbip Q<L dbnp 3500,0 7,0 245
42121100 hhnpuwdihl Ywd onwéuzhs (wuldwwnhly) gluttibp 94 hwuwn 35 000,0 2,0 70,0
44163180 wnnuuwunk funnnyuwl a< lg 514,3 73,3 37,7
44441200 qunhywynp wnwugpwljwiutp q< hwtn 2200,0 3,0 6,6
44441200 qunhywinp wnwugpwlwiubp Q< hwn 5500,0 4,0 22,0
44441200 qunhlwynp wnwugpwlw)ubp < hwwn 4 400,0 2,0 8,8
44441200 qunhywynp wnwugpwlyw|ubp q< hwwn 3 000,0 4,0 12,0
44441200 qunhlwynp wnwugpwljwiubp Q<L hwn 9 000,0 1,0 9,0
44163171 nbiuinhub funnnjuy 1, 1/2" < dbwp 4 000,0 8,0 32,0
44423640 ntitnhub Jhownhpubp Qg hwtn 300,0 10,0 3,0
44423640 nbiinhubr dhgwnhpbip < hwn 300,0 6,0 1,8
44423640 nbiinhub dhownhpubip QL huwn 300,0 4,0 1,2
44423640 ntiinhub dhgwnhpubin 4L husn 650,0 4,0 2,6
piaiap |t dipugit, huljngapil, pasiiad ik | g hun 65 000,0 1,0 65,0
wuywnwitgnipjwu thwlwlubp
44441200 qunhlwynp wnwugpwlwiubip Q< hwtn 9 500,0 2.0 19.0
42921180 lzbnpubip ag hwuwn 60 000,0 1,0 60,0
44118310 wnnwuwnb phretin 9L Uag 750,0 59,0 44,25
Giandg  |Pemmiunion thnjustghsitn U uxhadaung q< hun 610 000,0 1,0 6100
thnfuwitghsutinh twpptip
42141140 winwduwynp thnfuwtghsubp b wnwdtwynp ac . 650 000,0 1,0 650,0
tpnfuwghsutiph twppbip
44311110 guljwwwuindwl denwnwiwpbp Qg ubiwnp 12,0 3125,0 7.5
34351600 gniqwintnbuwlwl deptuwtbph wuhyubp Q<L hwwn 60 000,0 4,0 240,0
34331300 wywnndbpbuwubiph wwhbunwdwubp uu hwun 65 000,0 1,0 65,0
4112761 |yt < b 700,0 331 il




44163180 wnnuwnb funnnywy Q< g 860,2 18,6 16,0
44163180 wnnuwjwunb funnnyuwy Qg Ua 780,3 34,6 27,0
44118310 wnnuuwnt phelin QL g 1061,6 18,8 20,0
6 550,1
Yyninunnbinbuwlwl nbjuthljw b
wygbgnpduiljul wwpwuplbn
16311400 juninhtshs Ubpbwtbp Q< huwtn 45 000,0 1,0 45,0
16311400  [juninhtidhs dbpbuwbbnp q< huwtn 5 000 000,0 1,0 5 000,0
03451600 Swintip uu hwn 1500,0 10,0 165,0
03451600 dwnbip uu hwin 1500,0 20,0 30,0
03451600 dwnbp uu hwin 1800,0 400,0 720,0
34131220 tnpuwliinpubp < husn 0,0 1,0 0,0
16111100 gnipwulbp Q< hwin 0,0 1,0 0,0
16121300 Ynyinhjwnnpubip G hwn 0,0 1,0 0,0
16121100 guipwitiiin 9< hwn 0,0 1,0 0,0
16311400 [unwnhudhs dbpbuwubp Qg hwwn 0,0 1,0 0,0
16141100 wwpwpunwunueliph gphsubp q< hwin 0,0 1,0 0,0
16131100 ubpduwguit hpbtwbbp q< huwitn 0,0 1,0 0,0
16121200 hnnp thfupbigunn uwpptp Q< hwtin 400 000,0 1,0 400,0
16111100 gnipwbtin ge, huin 20 000,0 1,0 20,0
16341100 phppwhwywp dbpbuwtbp QL hwtn 20 000,0 1,0 20,0
16161100 wj quiwqwt wigbignpéwlwl uwppwynpnwiubn 9L hwn 35 000,0 1,0 35,0
16161100 w)| quitiwqu wigbgnpdwlwl uwppwynprudutp Q< hwn 475 000,0 1,0 475 000,0
481 435,0
Pwdwlinpnwqpnipjnit
79981100 pudwunpwgniwl dwnwjnyejniutbp Q< huwtn 12 500,0 12,0 150,0
79981100 pwdwunpnwgpiwl Swnwjnigniuitp QL hwn 8 800,0 12,0 105,6
79981100 pwdwunpnwgnplwi dwnwjnigniutbp QL husn 14 000,0 4,0 56,0
79981100 pwdwunprwgpiwl dwnwynuzniuubip q< hwwn 10 500,0 12,0 126,0
79981100 pwdwunpnugpldw Swnw)nigniutbp G< hwn 5400,0 12,0 64,8
79981100 pwdwunprugpiwl dwnwjnigjniuubn Q<L hwn 8 500,0 8,0 68,0
79981100 pwdwunprwgndwu Swnwjnipniutibn a< huwn 7 300,0 12,0 87,6
79981100 pwdwinpnwgpdwl Swnwjnipnitbp QL hwn 7 300.0 12,0 87.6
79981100 pwdwunpnwgpiwt Swnuynigniubn QL hwn 8 600,0 8,0 68,8
79981100 pwdwunpnuwgnpiwl dwnwnuniutbn Q< hwtn 14 000,0 12,0 168,0
79981100 pwdwunprwgpiw Swnwnuynluubp 9< hwtn 20 500,0 12,0 246,0
79981100 pwdwunprwgpiwl dwnwjnijniuutp qg hwn 2500,0 10,0 25,0
79981100 pwdwunprwgniwl dwnwjnueniubp 9L hwin 7500,0 6,0 45,0
79981100 pwdwunpnwgpiwl Swnwjniniuutin QL huwin 200,0 676,0 135,2
79981100 pwdwunpnuwagpiwi dwnwjnuyniuutn QL hwwn 100,0 756,0 75,6
79981100 pwdwunpnwgpdwt dwnwyni)nititbp QL hwwn 4000,0 12,0 48,0
92411100 phppbpht pwdwunprwgpiwy Swauwynuejniutbp 9 npwd 8 000,0 8,0 64,0
1621,2
uthusuveusr
s546ii00  |20URGRh: ohunieniilibnh pipwghl Unpguul a< npwd | 6000 000,0 1,0 6 000,0

w2uwwnwupltip




2bupbph, 2htunueyniiubph ppwghl unpngdwu

45461100 W A < nnwd 2000 000,0 1,0 2000,0
2tupbiph, shunieynitutiph pupwghl unpngdw
45461100 sk Q< npwd 2000 000,0 1,0 2000,0
2biuptiph, shunueyniuiiph pupwghy unpnguwl
45461
5461100 wsuuinubiplibn q< npud 2 000 000,0 1,0 2 000,0
bupbiph, 2ht uubph pu u dwi
4546100 |20URurh. 2htmipynitbnh pewghl Lnpng dui 9< npwd | 57000 000,0 1,0 57 000,0
wfuwwnwupubip
Gupk u
45461100  [2EURGPh, 2hUnueinititiinh plrewghl unpnguu ac — 0.0 10 0.0
wifuwnwupubip
buptiph, 2hu ubiph pu u duwi
45461100 |2PUREIN, 2hUnueyntittinh plpwghl tnpngdu o< npwd 5200 000,0 1,0 5200,0
woluwnwputip
45461100 okiupbinh, 2hunygyniuttiph pupwghl Unpngdw q¢ PR 0.0 10 0.0
wahuwwnwupubp
74 200,0
OUMUISNRMISNRLLED
agsmpg | PednwRRbh Lo iundik uabungs uu npwd | 1200 000,0 1,0 1200,0
dpuwigpuihli thwpbpubp
79211150 wnihinnpuljw dwnwynieniuubp QL npwd 3 000 000,0 1,0 3 000,0
79111200 ubpywjwgnigsww Swnwnigniuutp uu npwd 5 000 000,0 1,0 5000,0
79341100 gnywagnuihts dwnwjnigniuutp QL npwd 3 000 000,0 1,0 3 000,0
50531140 thnpdwptiunieiwt dSwnw)nipniutbip uu npwd 500 000,0 1,0 500,0
45231147 Unynunwgntinh dwppdwl wotuwwnwpubp uu npwd 990 000,0 1,0 990,0
h h
7oqrzig |Torbnn bian Quduss [unphpraiuiun WU | npwd | 58920000 1,0 5 892,0
Swnwynuyzniubp
79811100 pUwjht tnywgpnipjwl Swnwynipnitubp Q< npwd 350 000,0 1,0 350,0
98111121 wlywnwugniejwt wwwhnydwl dwnwnigniuttip uu npwd 840 000,0 1,0 840,0
503ifiz0  |MuMMbwngsuRl uwnplinh wwhuputdul uu iy 990 000,0 1,0 990,0
Yepwunpngiwu dwnwiniugnitibip
2bupbpnud inbinwiyuyywd EEhunpwlywy uwppbph
uu wd 990 000,0 1,0 990,0
SO Ybpwunpngiw b wwhwwudwt dwnwjnigniuubn i
63711220 wywnnibpbuwubph Yuywudwt dwnwjnyejniiutip uu npwd 100 000,0 1,0 100,0
73432100 Ujnipwlwu wpdtipubph quwhwwnnid uu npuid 990 000,0 1,0 990,0
65211100 qugh pwfuntd uu i 36 300 000,0 1,0 36 300,0
65100000  |2N Pafuduil U ous htnn uupjwd uu npwd | 16185 000,0 1,0 16185,0
SwnwjnuenLiibip
65311100 biEyunpwlywtnipjut pugtund uu npwya 62 350 000,0 1,0 62 350,0
90511120 Yhugwnuiht wneh hwywpdwy dunwnigjnitiubp Uu npwd 1000 000,0 1,0 1000,0
66111200 pwulywiht swnwnieniuttp uu npuwd 300 000,0 1,0 300,0
32411130  [hwiwguitg ac npwd 700 050,0 1,0 700,05
50531140 thnpdwpuunLp|wl dwnw)nijniutbn uu npwd 7 000,0 5,0 35,0
66511430 (rwgnighs wwwhnywgpdwl dwnwjnygjniitbp uu npwd 670 000,0 1,0 670,0
ghwnwlwu hGunwgnunuejniuubinh b
73311100 thnpéwpwnwljwt dwldwt wwbwdnpn b Q< npwd 1100 400,0 1,0 1100,4
hpuwgnpénud
66511430 Inwignighs wwwhnywgpiwl dwnuwjnigniuutin uu npwd 247100,0 1,0 2471
ghtwlywu hwnwgnuinieniuubiph b
73311100 thnpéwpwpwlwt dowldwy wwtwdnpnud b QL nppwd 1150 000.0 1,0 1150,0

hpwgnpdnud




wndwtinph Yepwunpnguwt b wwhuwwudwu
50511100
Sumunipindibty uu npwd 440 000,0 1,0 440,0
71351540 inbfuthywywl huynnnuejwl dwnwjnieniiutp uu npuwd 185 000,0 150 185,0
79631200 ;‘ZW“““”"”"QUW L a< npwd 13 000,0 8,0 104,0
wnwjniniubn
64121200 thnuwnh wnwpdwl dwnwynijniutbn uu npuwd 30 600,0 1,0 30,6
71351540 wnbfuthlwlwu huynnnipjut dwnwjnipjniuutp uu npwd 306 000,0 1,0 306,0
63521200 ptinubiph thnfuwnpdwt Swnwnugnitbp QL npwd 1430 000,0 1,0 1430,0
63521200 phintibiph thnfuwnpdwl Swnwjnueniitibip Q< npwd 1340 000,0 1,0 1340,0
ohtwpwpwlwy bwhiwgddwu htn Yuwwd
71311180
T ——— uu nnwd 100 000,0 1,0 100,0
wuywnnnbinh yEpwunpnguwt dwnwnigyniubn,
m
Sth0 ubpwnjwy’ dntinwdnmd b hwjwuwpwlznnud o L Ll Lo W00
64121200 thnunp wnwpdw Swnwjniejnittibp uu npwd 99 000,0 1,0 99,0
70221500 ubnwuubiph Jupdwlw)nipjwl dwnwjnigniu uu npwd 70 000,0 1,0 70,0
h u &
ssamzop | "wedwewhwluil huduluwngsuhl Spuignuyhl uu npw 990 000,0 1,0 990,0
thuwibiplln
T o i e Ll S uu npwd 15 000,0 1,0 15,0
Swnwjnipjniutbn
71351540 inbfuuphulywu huynnnipjwt Swnwjnugjniutbp q< huwin 0,0 1,0 0,0
79211150 wnhnnpuljwy dwnwjnieniuubp QL hwwn 0,0 1,0 0,0
sopmian | Rvsteaibeh dimsbnnoaliu uu npwd 299 600,0 1.0 299,6
Sdwnuynuginiuibip
92521120 gnigwudnipubiph wwhwwudwy dwnwnuejniubp uu npwy 792 000,0 1,0 792,0
guugwjhu, hwdwguwugwihu b ubipphu
Swnwinnuwlwu Yuyph (hunpwubwnh)
72211124 uu w 520 000,0 1,0 520,0
hwdwlwpgswht dpwgpuiht thwpbiptinh o
Upwldwl dwnwjnipjniuubn
64233170 htnnwnw- b nwnhnhwnnpnuiutiph hbinwpawldw Uu - 200 000,0 1.0 200.0
dwnwijnigniuubip
98111140 hbnhuwluwihtu hulnnnupwt dwnwjniegniutibin uu npwd 86 000,0 1,0 86,0
opazoo  |PuMRENN husnnupupnipniiuth gl uu ppud 23.000,0 1,0 23,0
Swnwyniniulbp
71351540 inbfuuplwywy huynnniejwt Gwnwnugniitbp uu npuwid 257 000,0 1,0 257,0
151 266,8
843 549,12
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